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Preface

Approach and objectives

This book is writien in a style intended to provide basic, practical knowledge and techniques
for marketers, unirained in the discipiine of finance and accounting. It is not intended 1 give
an all ambracing discussion on the intricacies of the principies of accounting and finance but
o providie sufficient knowledge for the marketer to be aware of the financial implications of
decision making, and aid in the following activities of marketing:

+ an assessment of how well marketing strategy is working,

s an ovaluation of allernative marketing activities,

s the development of fulure marketing plans, and

» controliing marketing activities.
The taxt is kapt to & minknm in order 10 put over the principles in & concies way, bt R
includes both numerous worked and un-worked esamples in order 10 achieve mexdmum
unclerstanding and reinforcement.

The text is primarily designed as a teaching akil for markaling or agribusiness locturers or

The leaming process

The leaming process is assisted within the text through the provision of a mumber of
leaming aids. Theee are: :

. MWMMMMWMWMW
for the chaptsr meterial and outiing the leaming ouloomes.

+ Figuree and tables; Each chapler is Busirated with relevant figures and tables which
Bustrate, sncapsulade or summarize the text.

o Exampiles; Each chapter contains exampies which serve 10 Bustrate the ext and
reinforce understanding of the principles.

« Exercises; Each chapter containg both workad and un-worked exerciess intended 0
ensure the leamer's understarxiing of both the concepts and the ues of practical
techniques involved in financial analysia.

» Kay terms; Key terms are included at the end of each chapter and are intended o
act as an aide-memoire.

+ Index; A subject index is included at the end of the text o assist with quick
roference.
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hapter 1 - Introduction to accounting

for marketers

Chapter objectives

This chapter is intended to provide:
* An understanding of financial analysis in
marketing
s An expianation of the various activities
asscciated with marketing financlel
analysis
s A brief introduction to the various financial
analysis methods,

Whilst it is not necessary 0 be a qualified accountant or bookkeeper, a basic
understanding of what is involved in financial analysis is essential for anyone in
marketing. it is too enticing, and often too easy, 10 use “blue skies® thinking in
planning marketing activities. It is even easier to spend money without fully realizing
the retum one is getting for it. it is proven, therefore, on marketers, to be more
disciplinad and analytical in the way they go about planning, executing and evaluating
marketing plans and strategy. One way of introducing more discipline into the process
is by having a basic understanding of the financial implications of decision making,
and how financial measures can be used to monitor and control marketing operations.
The purpose of this text is to provide exactly that, and the first chapter deals basically
with an introduction to the activities involved in financial analysis.

Structure of the chapter

The chapter introduces the way in which financlal analysis can be used in marketing,
and gives a brief overview of the areas in marketing where a knowlexige of finance
can be very useful, particularly in heiping marketers gauge how well strategy is

- working, in evaluating marketing research alternatives, developing future plans and in

marketing control.
The marketing financlal analyslis circle

ﬁmnmﬁanah&kmbemﬁbwmmymmhmmmmmmm
area of marketing it has four main functions:

a)mwhouweﬂmmeﬁngmmgymmg(mm}
b) to evaluate marketing decision alterna

¢) to develop plans for the future
d) to controt activities on a short term or-day to-day basis.

In effect these four functions comprise what can be called the "Marketing Financial
Analysis Circle® {see figure 1.1)

~

/




Figure 1.1 mm-mm“mm
———

= I'\
=
=

Activities associated with marketing financial analysis
functions

For each of the four functional areas where financial analysis is uselul in markeling,
there are 2 number of associated activities:

a) Financial situation analysis (how well marketing strategy is working)
This involves the study of:

» the study of trends

s comparative analysis

+ aspeesment of present financial strengths and imitations for the
whole business, brand or component of the business, 8.g.
trangportation.

- b) Financial evaluation of aktermatives

This involves the study of a number of factors like the markat place,
compelitors eic., and is used for decisions whather 1o:

» introduce new products/delete matisre products

« expand the saies foroe or do more adveriising

» delete a market operation e.g. close a Dairy Board depot or incresse
the sales flost

« move info a new market or markets

» build a new grain depot or gilo.

¢) Financial planning {projections conceming activitios which
management has decided 0 underinke) -

Financial planning is used for a number of activities lke:
» the introduction of a new range of products
«» the forecasting of sales and costs
» markst iberalkzation.

d) Financial controf (actuai compared 10 planned results)
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This activity is mainly centered around keeping plans on course.
Methods involved in marketing financial analysis

There are a variety of methods used in each of the four functional areas. Some of
these include the following:

a) Financial shuation analysis

» Ratio analysis
= Profit and contribution analysis
« Sales and cost analysis.

b) Financial evaluation of alternatives

» Sales and costs analysis

» Break gven analysis

= Profit contribution, cash fiow analysis, profit projections
» Retum on investment

» Retum on capital employed
» Sustainable growth rates.

¢) Financial planning
« Sales and costs forecasts
« Proforma income statements.
d) Financtal control
« Sales and costs forecasts
« Actual results compared to budgets (anslysis of variance)
+ Profit performanca.
What is analyzed in marketing financial anaiyais
Twommncammumﬁtnfammh:

a) the purpose of the analysis
b)meeaatofmsmmaﬁonneedaﬂiepeﬁomﬁwanam

Several possible units can be used in marketing financial analysis and cost or sales
data can be used. These units are listed in table 1.1. which is by no means
exhaustive. Units can be chosen which suit the particular situation or organisation.
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Table 1.1 mmmmm \
Markot Product/service Ovrpanizaion
Total Market inchustry Company
Markst segrment (s) Product mix Segment/DivisionAUnkt
Geographical arves Product fine Markating department
- demographics Specific product Sales unit
- product - brand Reglons
- charactorigtics - model Distrkt/Branch
- oo Office/Store
- shape Sales person

Basic financial analysis methods

These will be expanded on in later chapters, 80 this section serves as an introduciion
only.

Use of ratios

mmmmmmmw'sw L.e. con it pay its bills, ks
"leverage”, L&Mksmwas *aciivities”, Le. the productivity and efficlency
of the organization. Taking liquicity analysis only, this has a bearing on new product
mmmwmmmmmbm
from the balance sheet, 0.g.:

$

$

Cash 250 Current 120
Accounts receivable © 300 Short teen debt - ’ 100
Stock 200 Long term debt 150
Total current assols 750 Total febiities 1,720
Property and equipment 2,000 Net worth 14%
QOther assels 400

Toial assets 3150 Total kebilties and net worth AR
Current and quick ratios

Thoee are uesd 0 judge a fim's short e capaclly ®© mest s financiel
responsibilities. V

{i) Current ratio

Clrrent asyet
Current lioldtties (Should be greater than 1)

750220341
i) Quick ratio

Clrrent st
Crrant lichilities (minus stock)
/

4
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550/220=2.50
Debt ratios
Thase are usad to measure long term liguidity

Tokd debls
Networth_(Current Liability+Short Term Debt+Long Term debf) should be >1

1,720/1,430=1.21

Long term debt
Total captiabsation (| ong Term Debt + Net Worth)

1,500/2,930=0.51
This ratio shows the extent of leverage (debt) in tolal capitalization.

Profit analysis

Breakoven analysis is a method used to estimate the number of units (volume) or
sales value required to make neither profit nor losses. In other words, it is the point
where costs of production and sales volume are equal.

Sales and cost information are used to caiculate the breakeven point. Without getting
into the argument as to what constitutes fixed or variable costs, fixed costs are
defined as those which do not vary with output e.g. rent, rates, whereas variable costs
do vary with increased or decroased output, e.p. labour, materials. Breakevon
assumes fixed costs are constant, variable costs vary at a constant rate and there is
only one seiling price. However, with a higher or lower price, the breakeven point will
be lower or higher respectively. Breakeven is calculated by the formula:

FIXRD COBTS

BREAKEVEN = ¥ 7 Ul — VARIABLE OO / UNET

By rearranging the formula breakeven costs or sales can be calculated. Note that
profit level intentions should be added to the fixed costs, as this is a "charge® to the
company. Also, if one wishes to recover all new investment (value) immediately it
should be added to fixed cost.

Breekeven can be caiculated by the formula or by graphical methods. Figure 1.2
shows an exampie of both.

Figure 1.2 Formula and graphical solution for breakeven shalysis

i) Formula
PriceAJnit = $ 1.848
Variable cost/Unit = $0.767
Fixed costs = . $70.000




e

Breckeven =
mupw mmpyw

TR S ——UAine
1846 0267

= 65, 000 units (volume) or $120, 000
Figure 1.2 Graphical sclution

126

Y e ool W WE W AR AP e s W A e

Conbribution analysis: When performance of products, markst segments snd other
units is being analyzed, an examination of the profit contribution genersted

by a unit is often very useful 1o management.
| CONTRIBUTION = SALES (REVENUE) - VARIABLE COSTS |

So, contribution represents the amount of money avallable 3 cover fixed costs and
the excess available is net incoms.

For exampie, suppose & product is gensrating & positive contribution margin. i the
MbMWMMMMmeMt&m
not directly traceable 1o it.

In the exampie below ¥ X was eliminated, $50, 000 of product net Income would be
jost. if the product was retained the $50, 000 could be used 10 contrbute %o other

fixed costs and/or net income (ses figure 1.3.).

Gross and net profit margins: Contribution mergin is useful for examining the
financial performance of products, market segments and other marketing, planning
and controf units. However, marketing executives shouid be familiar with the
calculation of gross and net profit margins, which is useful to gauge compeny and
business unit financial performance and to budget for future operations. The profit

0
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a:ﬁbssstatm%usefuifﬁmperﬁngmﬁmwstmmt@\
compute taxes. Figure 1.4 gives an example

Figure 1.3 Hustrative contribution margin for product X {000's)

S
SALES 500
LESS: Variable manufacturing costs 200
_ Other variable costs traceable to product X 100
EQUALS: Conribution margin 200
LESS: Fixed cost traceable to product X 150
EQUALS: Product’s net Income 0

Note: Chapter 5 provides further axplanations of ) and b).
Figure 1.4 lllustrative profit and loss statement

' $
SALES REVENUE 1,200,000

LESS Cost of goods soid $00.000
EQUALS: Gross profit margin 400,000
LESS: Selling and admin. expenses 200,000
EQUALS: Net profit before tax 200,000
LESS: : Tax o 80,000 S
EQUALS: Net profit 120.000

Consider the following sample. data taken from FAows, Mason, Dickel and Westoott
(1987)

Cost of goods soki 12,000
Operating expenses 3,600
Sales i 16,500
Stocks . 3,200
Accourts receivable 3,750
Cash 400
Prepaid expenses 50
Fixed assets 1,200
Financial analysis models

Mmﬁw'bo&xnkm‘c@ammano zation

the Dupont Analysis The model allows executives to Mmmmwxesand

by manipulating any figure find the resuiting outcome. One of the advaniages of
based models is that one can work "backward® or “forward® through the

model, sefting desired lavels of cost or outcomes and calculating the results.

it
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Chapter 2 - Financial, managerial A

accounting and reporting
Chapter objectives

This chapter is intended 1o provide:
e An introduction to the basic principles of the accounting

equation
o An introduction and the construction of,

mmmmmmmm

. MM&!“WNM(C:
balance sheet and its interpretation

¢« A detailed explanation of the interprelation of company
accounts using ratio analyses and the uses of theee.

The two principie statements which form & set of accounts are:-

a) The proft and toss account defined as & summary of a business’s
transactions for a given period.

b) The baiance sheet defined as a statement of the financial position of the
business at a given date (usually the end of that period).

Other loss inpomnl stalemants are the manulactring account and the rading
accourt. i is absolutely essential 1o any marketer t0 understand what the profit and loss
statement and balance sheet mean. Both documents are vital, not only 1o show the
corporate heaith of the organization, but aiso as an indication 10 various sharsholders of
how well or badly the organization is performing, as proof 0 potential Kvestors or
lenders for the raiting of capital and as a statutory record for tmastion and other
Purposes.

Structure of the chapter

This chapier is structured in a logical way, buikling up from the basic tenets of finencial
analysis - the dual effect and the accounting equation. From this, the chapler looks at
the construction of manuiacturing, trading and profit and joss accounis and the drawing
up of a balance sheet. Ratio analysis is a particularly powerful technique simed at

helping marketers to compare seis of figuree over time and betwsen companies. This is
dealt with in considorable detail.

The basic principles
Al aspects of accounts are govemed by thess two principles,
a} First principle: Dusl effect

Every transaction has two sffects, not one, e.g. I a Cerial Marketing Board
(C.M.B.) purcheses grain it has: -/

¢
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* more stock \
» joss cash.

if the Nile Company of Egypt sells frozen artichokes to a retailer, it has:

» less stock
+ an amount owed by the customer if he does not pay immediately.

b) Second principle: The accounting equation

The second principle stems from the first. Every transaction has two sffects;
thess two are equal and balance each other. Thus, at any given moment the net
assets of a business are equal to the funds which the owner or proprietor has

investad in the business.
[ Net Assets = Propristor's funds |
is the ultimate accounting eqquation. An explanation of the terms Is as follows;

» Not assets are defined as a business’s total assets loss total liabilities.

o An asset is defined as something owned by a business, avallable for
use in the business. _ _

¢ A liability is defined as the amount owed by the business, i.e. an
obligaﬁontopaymeyatakm:redm
» Propristor's funds represents the total amount which the business
owes to its owner or proprietor. This consists of:

W:(amntpmpdmmmﬂwm) :

Profits: (funds generated by the business)

or minus

Losgses: (funds lost by the business) minus
Drawings: (amounts taken out of the business).

Use of the accounting equation to find profit

- We normally amive at & business’s profit or loss by means of a profit and loss account,
but where information about income and expenditure Is lacking, the accounting
equation can be a useful way of finding profit. If:

IMGMmepdﬁor%hmds | . ]

Mmmﬁnﬁm mmmsmm

Considering what causes an increase in the proprietor's funds, we can say that
INCREASE IN NET ASSETS (from the beginning of a period to the end) is equal to:

[New capital introduced + Profit - Drawings 11

mmmmﬁoﬁ,ﬁmdﬂmmmMW,ﬂwamﬂ&

5



Manufacturing account )

There are many fims, whether parastatal, sole trader, partnemhip or limiled compatyy,
which manuiacture the final product to be sold from raw materiais, a.g. a fertitzer
company uses phosphates, ammonia and so on to produce finished fertilizer pollets.

In this instance, a manufactring account is required in order 1o arrive at the final cost of
manufacture. The manufacturing organization will still need a trading and profit and loss
account. The only major difference is that, in the trading account, the entry for
purchases is reptaced by the cost of manufactswe. The cost of manufacture is
calculated using a mansfacturing account. Two important factors need %0 be taken into
account:

a) Differant types of cost

The costs needed 10 prepare a manuiacturing account can be broken down into
two main categories known as direct and indirect costs,

The main or direct cosis are those of mw materials and ishor, which together
are known as the prime coet, although any expenss which can be traced direclly
o any unit of production is aleo a direct cost. The indirect costs are those
associaled with production but cannot be fraced direclly 10 a perlicular
production unit. These costs will include the general faciory overheads such as
ight, heat and power, rent, rates, inouance, depreciaion of production
machinery, sic. Centain labour coets, such as supervision by foremen or faciory
managers, will aleo be indiract costs because they are not directly tracaable 1o &
production unit but are absorbed as a general overhead.

b) The effect of stocks
mmmmmmmhmmm

there mey be opening and closing stocks of raw materials and opening and
closing valuss to attach tn partly compieted items (work in progress).

%
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(r Figure 2.1 Pro forma manufacturing account

YEAR ENDED 2001

Opening stock of raw materials

Purchases

Less closing stock of raw materials
Cost of raw materials consumed
Direct manufacturing wages

Prime cost

Factory overheads:
Rent and rates,

fight, heat and power

indirect wages

Depreclation of

Prod. machinery

Opening work in progress
Less ciosing work in progréss

»

BOE L x

Now attempt axercise 2.1 and 2.2

(See figure 2.1.)

Exercise 2.1 A simpie manufacturing account
The following are detalis of production costs of Aroma Pyt Ltd for the year ended 31

These adjusiments can be seen in the pro forma manufacturing account, which foliows.

December 2001.

1 January 2001, stock of raw materinis 1,300
31 December 18X5, stock of raw materiais 1,800
Purchase of raw matorisls 10,00
Manufacturing (direct} wages 17.00¢
Royalies 60(
indirect wages 9.00¢
mam(mmmmmmw; 2,081
Factory rates 841
Genera! indirect expenses 881
Depreciation of work machinety 1,05

Prepare a manufacturing account for the year ended 31 December 19X5.

7
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Exercise 2.2 A manufacturing account with an adjustment of work-in-progress. \

Bl.

January 2001 stock of raw malerials

31 Decamber 2001 skock of raw materials
1 January 2002 work in progress

31 December 2002 work in progress

For the year ended 31 Decemnber 19X4
Wages: direct

£
§
i
383 2ad

gi

3
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Trading account

The purpose of the trading account is 10 ahow the gross profit on the sale of goods.
Gross profit is the differance between the sale proceeds of goods and what those
gooxis cost the seller to buy, or cost of sales. The cost of sales for this purpose includes
the amount which has been debited for them o the purchases account plus the cost of
gelting them to the place of sale, which is usually the seller's premises, i.e. the camiage
inwards of those goods. '

mumm

The trading account is calculated by using a sequence of stape. It is essential that these
steps are cared out in the order indicated.

&) The first step is %0 tranefer the balance on the salos account 10 the trading account:

Dr: Salos Al Cr: Trading Al
b) Next, debit the trading acoount with the cost of goods sold, staring with the opening
stock:

Dr: Trading Ac Cr: Stock Ak.

The opening stock is cbviously the same as the closing stock of the previous period; in
the first year of trading, of course, there will be no opening stock.

¢) The balance on the purchases account is then transferred 1o the trading account and
added 10 the opening stock figure:

Dr: Traciing Alc Cr. Purchases Ak,

d) Transter any balance on the camiage inwards account to the trading account:
Dr: Trading Ak Cr: Catringe inwands AG. /

L4
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Add the carriage to the total arrived at in ¢) above. Tbisgivesmetotatwstofgoods\' '
available for sale,

@) Deduct the value of closing stock from the cost of goods avallable for sale. Any item
deducted from the debit side of an account is, in effect, credited o the account.
Deducting closing stock from the debit side of the trading account is thersfore
crediting it to that account. The corresponding double entry will therefore be to the
debit of stock account:

Dr: Stock Alc Cr: Trading Alc

{by deduction from the debit side).
We have now arrived at the cost of sales.

f) The balance on the trading account will be the difference between sales and cost of
sales, i.9. gross profit, which is carried down to the profit and loss account.

Point to Note:

The debit to stock account for closing stock is the vakie of the curment asset of closing
stock which will be included in the balance sheet, as we shall see later. When the
opening stock is credited to the stock account in the next period, it wili balance off the
stock account.

Neot ssles (tumover) and net purchases: Goods which have been returned by
customers are represented by a debit balance on the sales retum account. This must
be transferred to the trading account, mmmmmgmprmmﬂm
account will both be overstated. '

Following the same reasoning that aliows us to deduct ciosing stock on the debit side of
the trading account, we may daduct the debit balance on the sales retums account from
the sales credited in the trading account. in this way, we show the net sales for the
yoar. Net sales are known as tumover. Similarly, we show the credit balance on the
purchases retumns account as a deduction from purchases in the trading account to
show the net cost of purchases. Goods which have been returmned to suppliers must not
be inciuded in the cost of sales.

Point to Note:

The order of items ie most important. Sales retums must be deducted from sales;
purchases returns mtist ba deducted from purchases; carmiage inwards, if any, must be
debited in the account before closing stock is deducted. Figure2.23howsaprofm

trading account.

9
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Opening stock of finished goods Soles xc
Production cost of completed goods bid {from mantactisring account)
Ciosing stock of finished goods

Cost of salos

Gross profft oid

MEMNN..

0
Gross proft BMd  xx

N.E A trading account is prepared very much ke a menufacturing acoount but
substituting the production cost of completed goods for the usual purchasing
ﬁgm(wemaazmﬁmm

Appendix | shows a sample trading accourtt for The Nile Marksting Boerd, Zimbabwe.

Exercise 2.3 Preparation of trading account
Prepare a trading account from the following balances included in the trial balance of K.
Smith st 31 Decarmber 2001.
Dr o
- - 4
Purchases 16,000
Sales retumns 3,00
- Purchases retums 250
Stock at 1.1.16X8 2,001
Cariags nwards 1,000
Stock at 31/12/19X8 5.008
The profit and loss account

Introduction: The remaining nominal accounts in the ledger represent non-trading
income, gains and profits of the business in the case of cradit belances, e.g. rent,
discount and interost receivable. Debit balances represent expenses and losses of the
business and are known as overhoeds, e.g. salarles and wages, rent and rales
paysable, ighting, heating, dleaning and sundry office expenses. Those must now be
transferred to the profit and loss acoount 8o that we can calculate the net profit of the
mmwam

mmmwfm)mMamdMme
for an organisation over a specific period of time. Such a statoment is genorally
developad on a monthly, quarterdy and yearly basis. The profit and loss stelormnent
Mamnmmmmmmmmm
mmmmmmmmmmm
mémy

AN | | J
20
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When examining a profit and loss statement, it is important to Wﬁsemedﬁfsm\
between manufaciurers and retaliers, For manufacturers the cost of goods sold invoives
the cost of manutacturing products (raw materials, labour and overheads). For retailers,
the cost of goods sold involves the cost of merchandise purchased for resale (purchase

price plus freight charges).
The balance sheet shows that the profit for an accounting period increases proprietor’s

funds. The trading and profit and loss account shows, in detall, how that profit or koss
has arisen. The profit and loss statement consigts of these major components:-

o Gross sales - the iotal resources generated by the firm's products and
services

+ Not sales - the revenues received by the firm after subtracting retums and
discounts (such as trade, quantity, cash)

+ Cost of goods sold - the cost of merchandise sold by the manufacturer or
retailer.

« Gross margin (profit) - the difference between sales and the cost of goods
sold: consiets of operating expenses plus net profits

« Operating expenses - the costs of running a business, including marketing

» Nat profit before taxes - the profit earmed after all costs have been deducted.
Figure 2.3 shows a pro forma trading and profit and loss account.




Sales

Laes: cost of goods sold stock, at a cost on 1 Janusry (opening siock’}

Add: purchases of goods

Loss: stock, at & cost on 31 Dec (closing stock’)

Giross profit

Sundry income:
Dincourds recoived
Commission: recoived
Ront received

Less: administration axpsnses

Rort

Raios
Lighting and heeting
Telephone

Postage

s

Stationery
Office saleries

Depreciation
Accounting and audk fees
Bank charges and imemst
Doubiful dobis

Distribution conts:
Dalivary costs

Van running expenses

Advertising
Discount allowed

NET PROFIT

- W N I

B M M M o2 MM oM M M M X

M XM

Explanations

it is essential that the difference botween a trading and profit and loss account is cloarly
undersiood. The following provides an explanation.

+ The trading account shows the gross profit ganerated by ths business. This is
done by comparing sales 1o the costs which generated
for example, will purchase various Bems from various suppliors, and add a
profit margin. This will give him the selling price of the goods and this, minus
the coet of goods sold, will be the gross profit.

Cost of goods soid is calculated by:

Opening Stock + Opening Purchases (for year or period) - Closing
Stock (cost of goods unsold at the end of the same period). /

thoee sales. A rolniler,

e
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This gives the cost of goods which were sold. Saiesmm@goodssdd\
should relate to the same number of units.

¢ The profit and loss account shows items of income or expenditure which
although earmed or expended by the business are incidental to it and not part

of the actual manufacturing, buying or selling of goods.

» in a complicated manufacturing industry and in service industries, different
definitions of "goods", "net profit* and "cost of sales” may exist.

Capital and revenue expenditure

Only revenue expenditure {e.g. heating bille) is charged to the profit and loss account;
capital expenditute (e.g. the purchase of a new plant) is not.

a) Revenue axpenditure is expended on:

» manufacturing, selling and distribution of goods and day-to-day
administration of the business
» maintenance of fixed assets (8.g. repairs);

It is well t0 note that “cash™ need not be paid or received to be accounted for.
The amount of revenue expenditure charged against the profits for the year or
period is the amount incurred whether cash has or has not been paki. This
applies with sales as well. Even if cash for sales has not been received in the
yaar or pariod under review, sales will be included in the trading account. This Is

the "accruais” concept.
b) Capital expenditure Is expendad on:
« start up of the business
+ acquisition of fixed assets {not for resale)

+ alterations or improvements of assets to improve their revenue earning
capacity.

Capitalemendwrosmmmtcﬁ;eprofnandmw“ﬁmbmeﬁ&m
spread over a considerable period of time.

Now attempt exercise 2.4,

Nigel Munyati and his friends opened & small scale horticultural "co-operative® in
Concession, gmngandrmm The business started on 1 August 19X8.

ﬂwfeﬂwmgisasmmryofﬂrsmaacbonsfmtheﬁmtysar
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Caphal ntroduced on 1 August 19X8

- cash 20,00x

- shocks 12.00¢
Cash paid 10 auppliiors 28,00t
Amounts owed to suppliors at 3 July 10X(7 14,008
Received from customers in respect of seles 50,000
Amounts owad by customers at 31 July 19X7 10,00
Stock of goods &t the enxt of the year 11.00¢
Rent 250
Rates i
Wader and light L |
Salesmen’s salaries 4,00
Salesmen’s commiasions, not yet paid o
Bank cherges 2
Office wages A
Telephone snd posial charges m
Advertising 1,001
Drawings during the year 4,000

? You are required to prepare a trading and profit and loss account for the year ended 31

July 2001. :
The balance sheet

introduction: The balance shest is a statement of the financial poeltion of & business
at a given date. it is, therefore, only a "snapshot” in time. When compering business

, therefore, a number of years and time periods may be more sultable. The
baiance sheet is the accounting equation but set out in a vertical form in order 1o be
more readily, understood i.e. the accounting aqueatior.

{ Assets - Liabilities = Capitsi + Profit - Drawings |
exprossed in the form of & balance sheet is as follows:-

Assets
Losx: Sabiltios
Not assots
Reprasonting:

Capital
Profit for the year

Lesa: drawings
Propristor's funds

This is a simpiified form; in reality the assels arx] Rabilities wilt be further sub-divided
and analyzed to give more detailed information. Figure 2.4 shows a pro forrma balance

-~ | Y,
— _
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Figure 2.4 Pro forma balance sheet \
Balance sheet at 31 Decomber 19X0

Cost Depreciation (C-D)

A) Fixed assets
Freehokd tactory
Machinery
Motor vehicles

X I ok oM
o M X
E I

B) Current assets
Stocks and work in progress
Deblors and prepayments
Cash at bank
Cash in hand

LI

C) Current liabilities
Trade croditors )
Accrued charges x

X
D) Not current assels xx
E) 15% loan x

p.v.5.9

Representing: n
Caplinl at 1 Jaramry x
Profit for the year X

Loss: drawings ' _ (x)
G) Proprietor’s tund 2

Explanations

As with trading and profit and loss accourts, the balance sheet has its own
nomenclature, These are fixed accounts, current accounts, current liabilities and funds:

A) Fixed assets. assels acquired for use within the business with a view o
earning profits, but not for resale. They are normally valued at cost less
accumulated depreciation.

B) Current assets: assets acquired for conversion into cash in the ordinary

coursa of business; they shoulkd not be valued at a figure greater than their
net realisable value.

C) Current Habilities: amounts owed by the business, payvable within one year,

D) Net current asseils: funds of the business available for day-to-day
transactions. This can also be called working capital.

E) Loans: funds provided for the business on a medium 10 long term basis by
an individual or organisation other thar: the proprietor. /
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F) This total is the total of the business’s net assets. \
G) This total is the total of proprietor's funde, i.e. the exient of his investment in
the business. Within these main headings the following tems should be
noted.
» Fixed asests

Depreciation is an amount charged in the accounts 10 write off the cost of
an asset over its useful Me.

¢ Current assets
Debtors are people who owe amounts 10 the business.

Prepayments are items paid before the balance sheet date but relating to
a subsequent period.

o Current liabiiities
" Trade crediiors are those suppiiers 10 whom the business owes money.

mmmmmwmmmmmm
for other expenses at the date of the balance sheet.

Note:

Working capital This is a term given 10 net currant assets, or tolnl current aseels
less total current kabilties, 6.g.
$
Current assets 7,000
Less current kabillties 1.800
Workin capital 5,800

Working capital is important because it is the fund of ready resources that a business
has in excess of the amount requied 0 pay its current Rabilities as they fall dus.
Working capital is important; lack of it leads to business fallure.

Appendix i shows a sample balance sheet and a full set of accounts for The Nile
Marketing Board of Zimbabwe.

Now atternpt exercise 2.5.
Exercise 2.5 Balance shest

Prepare a balance sheet for year ended 31 July 19X7 for Nigel Munyatl’s horticultural
co-operative. _

y
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Capital introducad on 1 August 19X6

- cash 20,000

- §tocks 12,006
Cash paid to supplier ' 28,000
Amounts owed to suppliers st 31 July 19X7 . 14,001
Received from customers in respect of sajes 50,004
Amounts owed by customners at 31 July 19X7 10,00¢
Stock of goods at the end of the year 11,004
Rent 2,500
Rates 801
Water and lights 500
Salesmen's salaries 4,00t
Salesmen’s commissions, not yet paid - 600
Bank charges . 12
Office wages 40t
Telephone and postal charges 150
Advertising 1,00t
Drawings during the year 4,000
Stocks and work-in-progress

Accounting for stocks: Almost every company camies stocks of some sort. In an
agricultural business, these may be fertilisers, chemicals, produce, etc. Accounting for
stocks presents a problem, because stocks In hand at the end of the financial year are
regarded as cumrent assets, whereas stocks used during the year form part of the
company’s costs. Hence, stocks (assets) appear in the balance sheet, and stocks
{used) must be accounted for in the trading and profit and loss account.

Valustion of stocks: Valuing dclosing stocks has ahwatys been & problem and a source
of disagreement. There are many methods of establighing the value of stocks. Three
common alteratives are average cost, first in first out (Fifo) and last in first out (Lifo).

i) Average cost

Cost is calculated by taking the average price computed by dividing the total
costs of production by the total number of units produced. This average price
may be derived by means of a continuous update, a periodic calculation, or a
moving period calculation. This method is often used to calculate the cost of low

value items, a.g. in the manufacture of nails.
ii) First in first out (Fifo}

The calculation of the cost of stocks and work-in-progress is on the basis that

- the stocks in hand at the year end reprasent the latest purchases or production,
as the items going into stock at the earliest date are assumed to leave first, e.g.
a greengrocer will obviously wish to self the oldest stocks first.

i) Last in first out (Lio)

_/
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the stocks in hand represent the eariest purchases or production, as R is
assumed that the latest stocks into store ars the first 10 be taken out, 8.g. & hin’
systom, where purchases are added to the top and sales will be removed from

the top.
Consider the following example comparing the effect of valuing stock of 240 units:
FIFO trading account
$ $
Sales (March) $360 © $3.00 1,080
Purchases {01 February) $200 © $2.00
{10 February) $200 @ $2.25
{15 February) $200 @ $2.50 1350
Less: Closingsiock  (bought 15 Feb)
$200 @ $2.00  (bought 10 Fab) 580
$400 %225 %0
320
LIFO trading account
$ $
Sales (March) $300 @ $3.00 1.000
Purchases (01 Februmry)  $200 @ $2.00
(10Februsry)  $200 @ $2.25
{15 February) $200 @ $2.50 1,950
Less: Closingsiock  (bought 15 Feb)
T $200 @ $200  (bought 10 Feb) L
s$4a00 8225 250
220
Nots: In both cases, there are 240 Remns in stock. Valuing stocks using the ialest

meMhW.WMNWM“Mh

The lower of cost and net reslizable value: The most kmdamentsl accouniing
concept with regards 10 the valustion of stocks snd work-in-progress is that they neesd
o0 be stated at coet, or if lower, at net realisable value. Net realisable velue is the
amount at which it is expected that items of stock and work-in-progrees could be sold
after allowing for the costs of completion and disposal. If net realisable value is higher
than cost, then cost is iaken, as vaking stocks at a higher value wouki not be prudent,
i.e. profit woulkd have been taken into account before it is actually eamed. R is important
to check against the net realisable value to ensure that the current asest, stock, is not
stated at a figure above that for which it couid be realised at the balance sheet dalo.

Stock provision: if &t is decided 10 reduce the value of certain Sems of stock from cost
to net realisable value, 6.g. cbeolete, siow moving or unsaleable stocks, this is done by

means of a provision.
Stock is reduced in value, and a charge is made against profits. The full amount is

|

deductad from stock in the balance sheet, but only the decrease between the beginning |

and end of a period is shown in that period’s trading and profit and loes account.

14
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‘Now attempt exercise 2.6. | \

Exercise 2.6 Valuation of stocks

Kubi Dwilf began business as a small scale peanut importer in July 19X6. Purchases of
peanuts were made as foliows:

$ $

19X6 Tons
01 July 60 20.00 1,200
15 August 40 24.00 960
30 September 45 26.00 1,170
12 October 30 35.00 1,050
29 November 25 38.00 950
11 December 30 50.00 1.500

230 £830

Which areas are used for analysis?

On 10 QOctober, 100 tons of peanuts were soid and on 31 December 70 tons were sold.
The total proceeds of the sale wers $8,500.

You are required to calculate the vaiue of closing stock and 1o prepars the trading
account on the foliowing bases:

a) first in first out
b) last in first out

¢} average cosl. .
The interpretation of company accounts-ratio analysis

Why ratios: Ratios are the means of presenting information, in the form of a ratio or
percentage, which enables a comparison io be made between one significant figure
and another. Often the sarne ratios of like firms are used to compare the performance
of one firm with another. A "one off" ratio is often useless - trends need to be

established by company ratios over a number of years.

= The great volume of statistics made available in the annual acoounts of companies
must be simpiified in some way. Presentandpomnba:mvestommﬁmmfm
quickly assess whethsr the company is a good investment or not. . o

c?mMMﬁoMbhmmammmmm’smws
and weaknesses. Potential suppliers will, for example, wamt to judge credit
worthiness.

+ Ratios by themselves provide no information; they simply indicate by exceptions
where further study may improve company performance. Management can
compare current performance with previous periods and competing companies. - . |

four key areas are generally used for analysis: )
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profiabllty )
Rouiiity

leverage {cepital structure)

activity or menagement effectivenses (efficlency).

a) Profitability

in most organisations profits are lmited by the cost of production and by the
marketability of the product. Therefore, "profit maximisation® entails the most efficient
allocation of resources by management, and “profitabliity ratios” when compared 1o
others in the industry will indicate how well management has performed this task,

Key questions to be identified in profitabiily analysis include:

« Doss the company make a profit?

« Is the profit reasonabie in relation % the capital employed in the business?

+ Are the profits adequate to meet the retums requirad by the providers of

capital, for the maintenance of the business and 1o provide for growth?

+ How are sales and trading profit spiit among the major activities?

» To what axdent are changes due to price change?

» To what extent does volume change?

« Does inder-company transfer pricing policy distort the analysis?

¢ Has the appropriate proportion of profit been taken In tax charged?

» What deferred taxation policy is being followed?

» Has the share of proiit (or ioss} atirbutable to minority iderests in subsiclieries

changed? if s, is i clear why?

» Are profits and losses on sales of fixed aseets:
-treated as adjiusiments of depreciation charges?
~fisciosod separately "above the line” in the profik and loss acoount?
Aroated as "below the ine” Reme in the profit and loss account?
-transferrod directly o reserves?

« Whet has been inciuded in Exiraordinary ltems?

» Should any of these iteme be regarded as part of the ordinary business of the

+ Do any iterns tend 10 recur year after year?

» Is i ciear which tems hawe been transferred directly fo ressrves without going

through the profit and loss acoount?
«» I3 sixch treatment appropriste in sach case?

b) Liquidity

*Liquidity measurss® are based on the notion that a business cannot oporate F k s
unable 0 pay its bills. A sufficient amount of cash and other short-term aseets must be
available when needed. On the other hand, becsuse most short tenm aseets do not
produce any retum, a strong liquidity position will be damaging 10 profits. Therelore,
management must ity 1o keep the firm’s liquidity as low as poesible whilst ensuring that
short term obligations will be met. This means that industrios with stable and
prediciable conditions will generally requine smaller current ratios than will more voiatiie
industries.

. & » »

Key questions to be identified in iquidity analysis include:

R
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c) Leverage

"Leverage ratios” show how a company’s operations are financed. Too much equity ina
firm often means the management is not taking advantage of the leverage avaiiable
with jong-term debt. On the other hand, outside financing will become more axpensive
as the debt-to-equity ratic increases. Thus, the leverage of an organisation has t0 be
consilered with respect both to its profitability and the volatility of the industry.

Key quastions io be identified in leverage analysis include:

d) Activity

“*Activity ratios® are used to measure the productivity and efficiency of a firm. When
\ compared to the industry average, the fixed-asset turnovar ratio, for example, will show/

¢ Has the business sufficient liquid memstnmmwaammm\
creditors?

+ Has the husiness sufficient resources to meet the requirements of creditors
due for payment in the next 12 months i.e. creditors payable within one year?

« Has the business sufficient resources to meet the demands of its fixed asset
repiacement programme and its commitments to providers of long-term capital
falling due for repayment in say, the next five years?

« What sort of capital has the company issued?

» Who owns the capital?

« What is the cost of capital in terms of interest or dividend?

» What proportions of the capital have a financed retum {geearing or leverage)?

» is the mix of capital optimum for the company?

« Is further capital availabie if required?

«» Is total capital employed analysed among different classes of business?

» If 80, can return on capital be calculated for each class?

« Mas issued Ordinary sheare capital increased during the period?

« if s0, why? e.g. Rights issue? Bonus {scrip) issue? Aoguisition?

;;;rs*ger share® figures calculated using appropriately weighted number of
res

» Are prior years' figures comparable?

» What individual items have caused significant movernenis on Reserves?

» Do any of them really belong in the profit and loss account?

+ I3 any iong term debt convertible into ordinary shares?

s On what terms?

» Calculate appropriate measures on “fully diluted

» basis

.lsanyiongbcmdabtmpayab&emﬁénamm

o If 80, should it be treated as a current liabiiity?

» Are there significant borrowings in foreign currencies?

» Are they matched by foreigh assets?

» How are exchange losses and gains thereon treated?

» Is there any preference capital?

-:smmmminamwmwmuw

s |s the treatment of pensions appropriate? Is information revealed?

+ Would capitalising leases significantly aﬂeﬁbngtemé&andgeaﬂng

ratios?

S1
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ratio will indicate whether the company used 100 much inventory in generating sales
and whether the company may be carrying cbsolete inventory. )
Key questions to be identifiad in activily analysis are:

-MWM&»M&&WM

» Which costs, if any, have changed significantly, thus reducing or improving
apparent profitabiity?
-mwmmwmwmawmmmm
& regular basis and adequately mairained?

» Are the stock levels adequate for the level of activity, or axcessive?

+ Are debts collected promptly?

» Are creditors paid within a reasonable period of ime?

» Are surpius cash resources invested 1o increase overall retums?

» How variable are the profits before interest and tax?

» How many times can the interest be paid from the avallable profit?

« How many times can the existing dividend be paid from the avaliable profit?

- @) Other

Other questions can be asked in interpreting final acommts. These may relste 10 long-
torm trands in the business or 10 fixed assels, 2.g.

1) Long-term trends in the business
« Are profits increasing or decreasing?
» Is the size of the business growing faster or slower than inflation?
» How has past growth been financed? .
= Are the levels of stocks, debtors and creditors conaistent with the long-
term growth of the business?
¢ Are dividends increasing?
*Mwmwmhummmwm
changes in the business?
¥) Fixed assels

+ Where fixad assets are shown “at historical cost”:
-How old are they? What is their estimated current value?
-How would revaluation affact the depreciation charge?
» Where fixed assets are shown “at valuation®:
-Wher was the valuation made, and on what basis?
-How have values changed since that dete?
-Might the assets be more valuable if used for other purposss?
= What method of depreciation is used for valuation?
« What asset ives are used? Are different lives used for Current Cost

Accounting?

« Has adequate provision been made for technological obsolescence?
» Are any aseets loased? What is their value?

« How much are the annual rentals? How long s the commitment?
olsm §
-Shown as an assol? |
-Written off against reserves?
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*Howdoest!mbookva%ueofgoodwmwmmmmemm\
surptus of the current value of fixed assets over their net book value?
» Has the status of any investments changed during the period?
Subsidiaries? Associated companies? Trade investments? Non-

consolidated subsidiaries?
» Are investments in associated companies shown by the "cost” method
or by the "equity™ method?
-Wm&ﬂwdiﬁemmmmmvﬁndqw&d
investments? |s market value used if it is lowar than cost?
oAmﬁ}ereanyionzgdemdebtm?HowhaveﬁieybaenWmm
balance sheet?

Methods used to evaluate organizational performance

To evaluate the performance of a company with respect to these ratios, three methods
are used, namely industry comparisons, time series analysis and absolute standards.

a) Industry comparisons

Data are used, such as that provided by commercial firms lke Dun and
Bradstreet and Profit impact of Marketing Strategies (PIMS), are used for
comparing the company with others of about the same size, that serve the same
market and have similar products, The danger is that when industry averages
inciude companies with different products or markets, averages can be

misleading.
b) Time serfes analysis

Ratios for several periods are used to determine whether significant changes
have occurred. These time series can aiso be used to project the future financial

performance of the company.
¢) Absoluts standards

ganizations heve some minimum requirements for corporate
performance regulations of the particular industry, e.g. the long-term debt-to-
equity ratio should not exceed one. A thorough financial analysis usually is a
- condition of thesa three approaches.

Figure 2.5 shows an exampie of how a time series analysis can be used to back
financial and business objectives.
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( Figure 2.5 Framework for linking financial business objectives

* )

.
The main types of ratio

1) Profiabllity
a) Gross profit margin or profit margin on sales:

Sales - Comofgrodssikd | Pre— kaxprofit+ et
Saales or Soler

b} Net profit margin:

Poft gfier kx
Sales

\ ¢) Retum on asseats: V j
3¢
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Pre-tax + Inperest (long term) \
Esued copiial + Reserves + Debt capitdl (long lerm) i.e. assels ‘

d) Return on equity

Profit after iax
Taial equaty

Note that:

mxl’mi»wm PROFIT + INTRREST
NAV SALES NAV

NAV = Net asset value i.0. Net asset tumover X profit margin = retum on assets

2) Liquidity
a) Current raﬁo

Qlrrent assels
Clrvers Habdlities

b) Quick (liquidity or acid test ratio):

Clorrars assets - Sveniory
CQlorent babllittes

¢) Defensive interval ratio:

Lipad assety
LDatly cperating axpenses

d) inventory to net working capital:

Cloront cestes — Qrrent babilties

3(i) Leverage {coverage ratios or gearing) - debt cover
a) Conventional levarage:

mwm
Tolal sharelolders find: (nat worth)

b) Murphy Prussman Gearing:

Debenture + Loans + Bankoverdrfls
Totcd long term finamcing + Bank ovendvraf .
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&) Cumulative interest coverage:

Nat profit before inlerwst and dax
Quniaihve irierest

4) Activity (efficlency ratics)
&) Debtors tumover:

Closing delitors
Soles

b) Creditors tumover:

w:m

¢} Inventory tumover:

Chost of goads scld
0.5 (Crawing and caing siock)

Nt assaf vahue

f) Profits per employee:
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o W N

Mumber of empiaopess

Other useful ratios
1) Stock market ratios
a) Eamings per share:

Pofiigleria
Mumber of ordinary shares in s

b) Price eamings ratio;

Markst price per shave
Barvings per share

¢) Dividend yield (net):

Dividend per shave (nat)
Marks! price per share

d) Dividend cover:

Zarnings per share
Dxvidendd per share

Financial measures of business unit performance

if an organization is magie up of multiple divisions or Strategic Business Units (SBU's),
then the following measures can be computed, provided that balance sheet and income
statement data are available at the divisional or SBU level. These analyses enable
corporate management to assess the performance of divisions, SBU's an&or their

management.

a) Retum on sales (ROS)

ROS Is computed by dividing net m(ﬂ!},arpmﬁt(i’)b&oreoraftermmand
taxes, by total revenue:

mwaws
ROS~ Saies §

Some argue that interest expenses and tax shouid not be considered as they are
outside the SBU manager’s control. However, interest may be added to show managers
that invested funds are not a free resource. This, however, understates the true cost of
capital employed, because the interest is a charge for only the debt portion of capital.

. | Y,
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ROE- Total asseis$ *100

RONA = Mtim@m
Net assess $

Note: NET ASSETS = TOTAL ASSETS- TOTAL LIABILITIES
o T { s L AT

W#W

MrBS
~ ok cvets. All bobine)

Note: Owner's equily = total assets - total iablities

In using any of these measures 10 assess an SBU manager's ablily 1 uee
officiently, accourt should be taken of whether cash is centrally controlled
headquarters determines both credit and payment policies. I the iather, then
receivables or payables or both should be omitted from the investment base.

i

¢) Cash flow (CF)
Cash flow is not the same as net income (N1} or profit {P). it differs in two weys:

i) Cash flow includes depreciation, as this is & bookkeeping transaction, and iax,
because tax is & cash cost. Thus,

CF = Ni {or P) after tax and depreciation

) Cash fiow is affected by balance sheet changes, e.g. increass in accouris
recoivable or additions % fixed assets (FA), e.g. plant and squipment and
changes in working capital (WC).

CF = Net income {or Profit} after tax pks Depreciation minus changes in
FA and minus changes in WC

Note: If no tax is paid or If tax is deferred, use Net income {or Prolit)
before tax.

The changes in (A} are caiculated by the company’s balance sheet entries for two
consecutive periocks.

Working Capltal =

A Cash plus or minus ;
A Stock plus or minus /
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A Acoounts receivable plus or minus \ '
A Accounts payable (and other short-term Habllities)
BExample:
Balance sheet
2001 2002
${000's) $(000's)
Profit 400 380
~ Plus
Depreciation 120 125
Cash fiow from operations . 520 505
Less
increase in Working capital (380) {420)
increase in Fixed Assets 4] (105)
Net cash generated or (Used) 50 (20)
d) Sustainable growth rate (SGR)

This is a measure of the abiiity of the business to grow within the constraints of its
current financial policies. What is required is a balance sheet for the SBU which
mma;umasd@md&epmdmmWMM
liahilities and long-run debt. ) ]

Once accomplished, the maximum sustainable growth rate (a measure of the ability of
the business to fund the new assets needed to support increased sa&es) is estimated

by:

{1 ~dXl+ L
SR~ A= dXi O]

Mmmm A
&wdeﬁﬁpawnmﬁoﬁmebmssﬁmwmmwfmm

corporate overhead charge plus any dividend paid to corporate?)
L = debt to equity ratio
t = ratio of assets (physical plant and equiprment plus working capital) to sales.

The growth rate is expressed in nominal terms. Real SGR is reduced by 2.2% tor every
5% of inflation for two reasons:

beeamt!wyfaﬁwm recover the economic value of depreciating assets.
if) Working capital increase solely due 1o inflation requires financing.

fE

I the actual growth rate exceeds SGR, then the organisation can consider a number of
strategic actions which affect the “productivity" side of the quest for increased profits
("productivity” as opposed to "volume” strategies to increase profits). These are:




DWWM(&MMW) \
if} reduce dividends

ity obtain injections of "equity” from the corporate body

iv) increase debt.

Now attempt exercise 2.7,

Exerciss 2.7 Ratio snalysis

Nigol Munysti's horticultural  businees continued % flourish. Six ysars
condensed

leder
financial accounts for the last three years are summaerised below (N.B.
introcuced fresh capital into the business):

his
he

Proft and Loss account for th 1999 2000 2001
Sales (sl on credit) 415 645 805
Loss: Cost of goods sold:
Opening stock s 40 a5
Purchiasos 340 565 8os

375 205 70
Loss; Closing sfock 40 3% a5 540 115 ==
Gross profkt 80 105 130
Loss: Expenses 40 50 a0
Loan inlemst - 4@ - 50 10 Fo)
Net Profit
Balance Sheet as at 31 March 1999 2000 2001

{$ 000's)
Fixed assels e 93 101
Currant aseots :
Stocks 40 15
Tracle deblors 52 108 0
Cash a2 Bank 12 14 8 178 - b ]
i e 408
Fnenced by:
Caplial 100 120 s
Add. Net proft for the yeer 40 55 ]
Less: Drawings 24 i6 % 2 3% 2
{oli on 31 March) 118 140 8
Lown - - 10
- Canvent habllitigs :
Creditors 77 182 178
Bank overdraft : 4 : = 1 gl
174 &l .

Compute the following ratios for 1998, 2000 and 2001.

a) gross profi on sales
b) gross profit on cost of goods sold

@) current ratio

f) bquidity (or quick) raio
g) debtor collection period /
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h} working capital
i) ratio of current assets 10 total assets
j) ratic of cash to current liabilities

Comment briefiy on the results of the business over the last three years.

Activity

ratio
Average cost
Balance sheet
Capital expenditure
Cost of goods sold
Credit balances
Current liabllities
Debit balances
Diract and indirect costs
Dual effect
First-In-first-out
Fixed and cutrent assets
Gross margin
Gross sales
Last-in-first-out

Leverage
Liquidity ratios
as8s

Key terms

Loans

Manufacturing account
Net profit

Net sales

Net sales and net purchases
Opening and closing stock
Overheads

Profit

Profitabiiity ratios

Profit and loss account
Ratio analysis

Revenue expenditure
Trading account

The accounting equation
Working capital
Work-in-progr -
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Chapter 3 - Cash flow accounting

Chapter objectives

This chapter is intended to provide an explanation of:

» The aim, use and construction of cash flow statements

+ The meaning and caiculation of the source and application of
funds statement and their importance 10 business

e A discussion on credit and types of loans avaiable 1o
businesses

¢ An explanation of the cost of funds and capital

¢ The knportance and calculation of ownership costs, inchuding
depreciation, interest, repair, taxes and insurance.

it can be argued that ‘profit’ does not always give a useful or meaningful picture of a
company’s operations. Readers of a company’s financial statements might even be
misled by a reported profit figure.

Sharehoiders might belleve that f a company makes a profit after tax of say
$100,000, then this is the amount which it could afford to pay as a dividend. Unless
the company has sufficient cash available to stay in business and also 10 pay a
dividend, the shareholders’ expeciations wouid be wrong. Survival of a business
depends not only on profits but perhaps more on its abiiity 10 pay its debts when they
fall due. Such payments might inciude ‘profit and ioes’ items such as maierial
purchases, wages, interest and taxation etc, but also capital payments for new foeed
assets and the repayment of loan capital when this falis due {(e.g. on the redemption
of debentures).

Structure of the chapter

"Cash flow” is one of the most vital elements in the survival of a business. it can be
positive, or negative, which is obviously a most undesirable situation. The chapler
develops the concept of cash flow and then shows how the funds can be used in the
mmmmwmwuwymumm
mdsolhodmptarﬁnishaswithadsandm extemnally generated funds.

Aim of a cash flow statement
The aim of a cash flow statement shouid be t0 assist users:

« f0 858688 the company’s ability to generate positive cash flows in the fukwe
« {0 assess its ability to meet its obligations to service ioans, pay dividends eic
« {0 assess the reasons for differences between reported and related cash

flows
« {0 assess the effect on its finances of major transactions in the year.

The statement therefore shows changes in cash and cash equivalents rather than
working capital.

indirect method cash flow statement
| /

2
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Figure 3.1 shows a pro forma cash flow statement. . \
Figure 3.1 Pro forma cash flow statement

Cash Flow Statement For The Year Ended 31 December 2001

W

Net cash inflow from: operating activities
Retums on investments and servicing of finance
Interest received

Irtarest paid

Dividends paid :

Net cash inflow/ (outflow) from retums on investments and servicing of finance
Taxation

Corporation tax paid

Tax paid

Investing activities

Payments to acquire intangible fixed assels
Peymenis to acquire tangible fived assetls
Receipts from sales of tangible fixed assets

Net cash inflow/ {outflow) from Investing activities
Net cash inflow before financing

Financing

Issue of ordinary capitsd _
Repurchase of debenture loan

Expenses paki in connection with share iasues
Net cash inflow/ {outfiow} from financing )
increase/ {Decrease) in cash and cash equivalerts

=

XxBR B REx xe
2

]

2 BR x>
o< &

NOTES ON THE CASH FLOW ST ATEMENT
1. Reconciliation of operating profit to net cash inflow from operating activities

Operating proft

Depraciation chamges

Loss on sale of tangible fixed assets

Increase/{docrease) in stocks X}
Increased{decrease) in debiors X
Increase/{decrease) in craditors -
Net cash inflow from operating activities

2. Analysis of changes in cash and cash equivalents during the year

X Xie

.Pﬁx

Balance at 1 January 2001 : X
Net cash inflow X
Balance at 31 December 2001 X

3. Analysis of the halances of cash and cash squivalents as shown in the balance
sheet

/
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$
Cashatbankandinhand X X
Short torm irvestments X X
Bank overdrafts & 1.4

£ X

4. Analysis of changes in finance duning the year

Share capital  Debenture loan

: $
Balance st 1 Januesy 2001

Cash inflow{outfiow) from financing
Profit on repurchase of debenture loan for lees than s book
valuo

+ 2w

X
)
1.4}
Balence at 31 Dacember 2001 X .S

Note: Any transactions which do not result in a cash flow should not be
reported in the statement. Movements within cash or cash equivelents should
not be reported.

Explanstions

K is often difficult to conceplualise just whet is “cash® and what are "cash
oquivalents”. Cash need not be physical money; it can take other forms:

a) Cash in hand and deposits repayable on demarnci with any bank or financial
institution.

b} Cash equivalents: Short term, highly liquid investments thet are readily
convertible to known amounts of cash and which are subject o an

insignificant risk of changes in value.

cywmwmmmmmdhm
andd other activities that are not investing or financing activiles. The
reconciiation between the operating profit reported in the prolt and loss
account and the net cash flow from operating activities must show the
mavaments in stocks, debtors and creditors releted 10 operating activities.

d) Retums on investiments and servicing of finance. Cash inflows from theee
sources includes:

i) imorest received, also any mlated ax recovered, and
if) dividenxis received.

Cash outflows from these sources includes:
i) interest paid

if} dividends paid
iii) interest slement of finance loase payments.

&
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&) Taxation: mmmmwmmmtomtmmmaummin\
retation to the company's revenue and capital profits, i.e. corporation tax.

f} Investing activities: the acquisition and dispoeal of fong term assets and
other investments not included in cash equivalents.

Cash receipts include

i) receipts from sales or disposals of fixed assete (or cument asset
investments)

i) receipts from sales of investments in subsidiary undertakings net of
any cash or cash equivalents transforred as part of the sale

iif} receipts from sales of investments in other entities

iv) receipts from repayment or sales of loans made to other entities.

Cash payments include;
i} peyments to acquire fixed assets
i} payments {0 acquire investments in subsidiary net of balances of
cash and cash equivalents acquired
ill} payments to acquire investments in other entities
iv) loans made and payments to acquire debt of other entities.

g) Financing: activities that result in chenges in the size and composition of
the equity capital and borrowings of the enterprise.

,Fmamiﬁgmmm:,

{} receipts from issuing shares or other equity instrumernts
i) receipts from issuing debentures, loans, notes and bonds and so on.

Financing cash outflows inciude;
i) repayments of amounts borrowed
if) the capital elerment of finance loase rental payments
iii) payments to re-acquire or redeem the entity’s shares.

Now atternpt exercise 3.1.

4
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Exercise 3.1 Cash flow statoment \
Set out below are the accounts for TPK Pvt Lid as at 31 December 2000 and 2001.
PROFIT AND LOSS ACCOUNTS FOR THE YEARS TO 31 DECEMBER
2000 2001
23000 23000
Operating proft 9,400 20,640
Interest paid - (280)
interest received 100 40
Profit before taxation 9,500 20,400
Taxation Q.200) G200
Profit after taxation 6,300 15,200
Dividends
Prelerence (peid) (100} (100)
Ordinary: imerim (paid) 1,000) (2,000)
final (proposed) (.000) @000
Retained profit for the year 2200 2.300
BALANCE SHEETS AS AT 31 DECEMBER
Fboad Assels
Ptant, machinery and equipment at cost 17,800 23,900
Less: accumulated depreciation 9,500 10,750
£.100 12150
Current Assels
Stocks 5,000 15,000
Trade deblors 8,000 28,700
Prepayments 200 400
Cash at bank and in hand 800 -
14.500 42100
Current labillics
Bank overdraft - 16.200
Trade crediiors 8,000 10,000
Accruals 800 1,000
Taxation 3,200 5,200
Dividends 3200 6000
3.000 28.400
£.000 16050
Share capiial
Ordinary shares of $1 each 5.000 5,000
10% preforence shares of $1 each 1,000 1,000
Prof and loss account 3.000 10.100
9,000 16,100
Loans ' .
15% debenture stock £00 no
2000 10050

Prepare & cash flow statement for the year 10 31 December 2001.
Statements of source and application of funds

Ahthough cash flow statements have now superseded statements of source and :
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MWmimanwwﬁndmmmmmmm\
informative. For this reason, it is necessary to examine funds flow statements.

Funds statement on a cash basis
Funds statements on & cash basis can be prepared by classifying and/or
consolidating:
a} net balance sheet changes that occur between two points in time into
changes that increase cash and changes that decrease cash

b) from the Income statement and the surplus (profit and loss) statement, the
factors that increase cash and the factors that decrease cash and

¢) this information in a sources and uses of funds statement form.

Step {(a) involves comparing two relevant Balance sheets side by side and then
computing the changes in the various accounts.

Sources of funds that increase cash
Sources of funds which increase cash are as follows:

= & not decrease in any asset other than cash or fixed assets

« a gross decrease in fixed assets

» & net increase in any Hability

« proceeds from the sale of preferred or common stock

« funds provided by operations (which usually are not expressad directly in the
income statement).

Tommmwwm,mmmmmmmmm
income after taxes. In other words, suppose we have:

Net income after taxes of a company, being = $750,000
and depreciation {non-cash expense), being = $100,500
- 230,500

Then, the funds provided by operations of such a company will be obtained by adding
the values of the two above items, i.e. $850,500. Thus, the net income of a company
usually understates the value of funds provided by operations by the valus of the
depreciation - in this case by $100,500.

But then, depreciation is not a source of funds, since funds are generated only from
operations. Thus, if a company sustains an operating loss before depreciation, furkis
are not provided regardless of the magnitude of the depreciation charges.

Application of funds of a company usually include:
¢ a net increase in any asset other than cash or fixed assets

= a gross increases in fixed assets
+ a net decrpase in any liability
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/ ' « & retirement or purchase of stock and \
«» the payment of cash dividends.

To avoid double counting, we usually compule gross changes in fixed assels by
adding depreciation for the period to net fixed assets at the ending financial statement
date and subltract from the resulfing amount the net fixed assets at the beginning
financial statement date. The residual represents the gross change in fixed assels for
the period. If the residual is positive, it represents & use of funds; ¥ & is negative, &
represerts a source of funds.

Once all sources and appiications of funds are computed, they may be amanged in
statement form so that we can analyse them better.

Now attemnpt exercises 3.2 and 3.3

Exercise 3.2 Source and application of funds |

Given below are some different souwrces and appiications of funds finance ilems
purposely scattered for an Agribusiness Comparny K for the year anded 31 December
19X8.

1) identify them as sources and appiications of funds, and avange them in a proper
manner with the Sources of funds on the left and the Applications on the right of a
tabulated statement for the said period.

2} Comment briefly on some of the uses of the tabulated stalement.

$

Incroase In cash position = 12,000
Decrease in debiors » 8,000
Increese in long term dabt = 2,500
NCrenss In siocks = 26,500
ncrense in tax prepayments = 2,000
Net profit = 35,000
Increase in other sccruals = 3,000
Additions 10 fixed assets = 4,500
Cash dhidends = 16,000
incronse in bank loans = 20,000
Increase in prepaid XpPensos = 2500
ncrease in invesiments = 9,000
Increase in crediions = 5,000
Decraase in accrued taxes = 8,000
Depreciation = 8,000

Note: The abowe figures are based on the balance sheet and income
staternent of Cormpany K, which are not shown in this exsrciae.

Exercise 3.3 Sources and appiicetions of funde B

Using the data and information in the annual reporis {eepecially the balance sheet
and income statements) of Cerial Marketing Board provided for 1993 and 1992

N Y
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a) computs and identify the sources and applications of funds of the parastatal \
for the years 1992 and 1893 and

b) arrange them into a sources and applications of funds statement for 1093,

Funds use and credit planning

Funds (or capital} is a collective term apptlied to the assortment of productive inputs
that have been produced. Funds may be broadly categorised into operating (or
working) capital (difference between current assets and current liabiiities), and
ownership (or investment) capital.

Operating capital in a company or firm usually refers 1o production inputs that are
normally used up within a production year. On the cther hand, investment capital (or
funds) refers to durable rescurces ke machines and buildings in which money
invested is tied up for several years, Funds are generally quantified in monetary value

terms.

Funds use, especially borrowed capital, is usually influenced by many factors,
namely: the altemative demands for it; the availability of credit as and when needed;
the time and interest rate payable on it; the types of loans that might be needed to
generate it; and the cost of funds and business ownership cost. Thus, careful credit
planning is essential in the successful operations of any company.

in general, this requires the application of what, in strategic company management,
rmsmmmm@mmmfw-fmormm'sow The ietters

that make up SORS stand for:-

» Strategic planning (S)

+ Organisational planning {O)
+ Resource requirements (R}
- Strategic control (8).

Figure 3.2 summarises the simplified matrix of interacting tactors and component
parts that make up 'SORS'. In general terms, SORS Is influenced or determined by
four major factors: the external environment, the intemal anvironment, organisational
culture and resource (especially funds) availabilty. These four factors interact to
create four inter-related components which normally determine the success or fallure

of any given company. These are;

&) competitive amﬂmm

b) strategic thrust

¢} product/market

d) competitive cost posiﬁcm and restructuring.

A proper and pragmatic manipulation of these four component parts requires:

» assessing the external environment

» understanding the internal environment

+ adopting a leadership strategy

« strategically planning the finances of the company.
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/ The purpose of this text is not to cover all the components surmmarised in figure 3.1. \
Instead, the major concemn i to have a proper understanding of financial analysis for
stmtagscplunng mmwwmammm

backed by strategic funds programming, baseline projections {or budgeting), what-if
(decision tree) analysis, and risk analysis. This book attempts ®© cover sl these
areas.

Altornative uses of funds

Dealing with alternatives is what management is all aboul. Some of the tools for
evaluating alematives (e.g9. partial budgets, cash flow budgets and financial
staterments), are covered in this text.

It is assumed that imost people are already famiiar with the analysis that usually leads
o major capital use decisions in various compenies. Howover, highlighted are soms
of these points throughout the book, since company backgrounds differ and what is
considered "major capital use decisions® varies with the size of businesses. For

instance, a $50,000 expenditure may be major to one company and of Wlle
significance to another.

Figure 3.2 The strategic four-factor model
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Almost averyone is famifiar with the substantial capital or funde demand in all forms of
business. Obviously, this does not ali have 0 be ownexi capital. Evaluation of
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successful businesses has found that many of them operate with 50 percent or more \
rented or borrowed capital, The pressure on businesses to grow is likely to continue,
and these businesses are likely to grow faster than will be permitted by each
reinvesting its own annual savings from net income alone. Thus, because demand for
credit will continue to expand, careful credit planning and credit use decisions are of

paramount importance to marketing companies in any country.
Credit and types of loans

Credit is the capacity to borrow. it is the right to incur debt for goods and/or services
and repay the debt over some specified future time period. Credit provision io a
company means that the business is allowed the usse of a productive good while it is
being paid for.

Cther than the fact that funds generated within a business are usually inadequate to
meet expanding production and other activities, credit is often used in order to:

s increase the retums on equity capital
« allow more efficient labor utilization
« increase income.

The process of using borrowed, leassd or “joint venture" resources from someone
else is called leverage. Using the leverage provided by someone else’s capital helps
the user business go farthar than it otherwise would. For instance, a company that
puts up $1.000 and borrows an additional $4,000 is using 80% leverage. The
j is 10 increase total net income and the retum on a company’s own equity

capital

Borrowed furdds are generally referred to as loans. There are various ways of
classifying loans, namely:

s in payment terms, e.9. instalment versus single payment

* in poriod-cf-payment terms, e.g. short-term versus intermediate-term or
iong-term

« in the manner of its securily terms, e.g. secured versus ungecured

s in interest payment tanms, 6.g. simple interest versus add-on, versus
discount, versus balioon. :

On the basis of the above classification, there are twelve common types of loans,
namely: short-term loans, intermediate-term loans, long-term loans, unsecured lcans,
secured loans, instaiment loans, single payment loans, simple-interest loans, add-on
intersst loans, discount or front-end loans, balloon loans and amortised loans,

Short-term loans are credit that is usually paid back in one year or less. Short term
loans are usually used in financing the purchase of operating inputs, wages for hired
labour, machinery and equipment, and/or family fiving expenses. Usually lenders
axpect shori-term loans to be repaid after their purposes have besn served, e.g. after
the expected production output has been sold.

Loans for operaling production inputs e.g. cotton for the Cotton Company of
Zimbabwe (COTCO) and beef for the Cold Storage Company of Zimbabwe (CSC),
are assumed {0 be self-liquidating. In other words, aithough the inputs are used up in
the production, the added returns from their use wilt repay the money borrowed to /
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purchase the inputs, plus intersst. Astute managers are also expecied 10 have figured \

in a risk premium and a retun 1o labour management. On the other hand, loans for
investment capital items ke machinery are not ikely to be self-Iiquikiating in the short
torm. Loans for family iving expenses are not at all self-iquidating and must come out
of net cash income after all cash obligations are paid.

Intermediate-term (IT} Josns are credit sxiended for several years, usually one 10
five years. This type of credit is normally used for purchases of bulldings, squipment
and other production inputs that require longer than one year 10 generaie sufficlent
retums to ropay the loan.

Long-term loans are those loans for which repayment exceeds five 10 seven yoars
meubéemmwanhMMmmmm

Unsecured loans are cradit given out by lenders on no other basis then a promiee by
the borrower 1 repay. The borrower does not have 10 put up collateral and the lender
refles on credit reputation. Unsecured loans usually carry a highor interest rale than
socured loans and may be difficult or impossible 10 arrange for businesses with a
poor cradit record.

Secured loans are those loans that involve a pledge of some or all of a business’s
assets. The lender requires security as protection for ks deposiiors againet the risks
irvolved in the use planned for the borrowed funds. The borrowse may be able 10
bargain for better terms by putting up coliateral, which is 2 way of backing one's
promise to repay.

instalment loans are those loans in which the borrower or credit CUSIOMEr MPeYs &
oot amount each period (week, month, year) until the horrowed amount is cleared.
instaiment crodit ks similar 1o charge account credit, but usually invoives a formal legel
contract for a predetermined period with specific payments. With this plan, the
borrower usuaily knows precisely how much will be peid and when.

Single paymant loans are thoee loans in which the bormower pays no principal untll
the amount is due. Because the company must eventuslly pay the debt in full, & is
important 1o have the self-tiscipline and professional integrity 10 set aside money ©
be able o do so. This type of joan is sometimes called the "lump sum® loan, and is

genorally repeid in less than a year.

Simpile intorest loans are those loans in which iterest is paid on the unpeid joan
balance. Thus, the borrower is required 10 pay interest only on the actusl amount of
money outstanding and only for the actual time the money is used (e.g. 30 days, 80
days, 4 months and 2 days, 12 years and one month).

Add-on interest loans are credit in which the borrower pays interest on the hull
amount of the loan for the entire lcan period. interest s charged on the face amount
of the loan at the time i s made and then “added on". The resulling sum of the
principal and interest is then divided equally by the number of payments 10 be madis.
The company is thus paying interest on the face value of the note although &t hes use
of only a part of the initial balance onoe principal payments begin. This type of loan is
sometimes called the “fiat rate" loan and usually results in an interest rate higher than

/

tha one specified.
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Discount or front-end loans are loans in which the interest is calculated and then \
subtracted from the principal first. For example, a $5,000 discount loan at 10% for

one year would result in the borrower only receiving $4,500 to start with, and the
$5,000 debt would be paid back, as specified, by the end of a year.

On a discount loan, the lender discounts or deducte the interest in advance. Thus, the
effactive interest rates on discount loans are usually much higher than (in fact, more
than double) the specified intarest rates.

Balloon loans are loans that normally require only interest payments each period,
untii the final payment, when all principal is due at once. They are sometimes referred
to as the "last payment due”, and have a concept that is the same as the single
payment loan, but the due date for repaying principal may be five years or more in the
future rather than the customary 90 days or 6 months for the singie payment loan.

In some cases a principal payment is made each time interest is paid, but because
the principal payments do not amortise (pay off) the ican, a large sum is due at the
loan maturity date.

Amortised loans are & partial payment plan where part of the loan principal and
interest on the unpaid principal are repaid each year. The standard plan of
amortisation, used in many intermediate and long-term loans, calls for equal
payments each period, with a larger proportion of sach succeeding payment
representing principal and a small amount representing interest.

The repayment schedule for a 10 ysar standard amortised loan of $10,000 at 7% is
presented in table 3.1.

The constant annual payment feature of the amortised loan ig similar to the "add on"
loan described above, but invoives less interest because it is paid only on the
outstanding loan balance, as with simple interest. Amortisation tables are used to
determine the regular payment for an amortised loan. The $1,424.00 annual payment
for the 10 year loan was determined by using the amortisation factor (AF) of 0.1424
and multiplying that by $10,000, the face value of the loan. The proper procedure for
deriving a schedule as in table 3.1 is to:

a) first read off the amortisation factor from an amortisation table for a given
"interest rate against the given year the loan is expected to last

b) calculate the total payment at the end of sach year

¢) then, on & year-by-ysar basis, calculate the annual interest payabie on the
balance of the principal

d) obtain the annual principal payment by subtracting the calculated annual
interest from the total end-of-year payment. :

Repeat the procedure for each of the years involved. Now attempt exercise 34.
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Table 32 Amortization of a $10,000 loan in 10 yoars by squal annusl )
instaliments @ 7% interest

Year Unpaid principal at beginning of year ($) Payment at the end of the yeer
intoreat {$}  Principel ($) Totsi ($)

1 10,000.00 700.00 724.00 1.424.00
2 9,276.00 649.30 71470 1424.00
3 8,501.30 §95.10 828.90 1,424.00
4 7,8672.40 537.10 866.90 1,424.00
5 8,785.50 475.00 949.00 1,424.00
6 5,836.50 406,60 1,015.40 1/424.00
7 482110 337.50 1,088.50 142400
8 373400 261.40 1,162.60 1,424.00
9 2,572.00 180.00 1,244.00 1424.00
10 1,328.00 93.00 1331.00 1,424.00
Totsl

4240.00 10,000.00  14,240.00

Suppose a new machine is being financed by the Dairiboard of Zimbabwe Lii with an
18 yoar $25,000 loan at a 9% interest rate. Obtain an amortisation schedule % show
how the Dairiboard of Zimbabwe Lid will pay off the resulting amortised loan. (Hint:
the AF is 0.1142).

Coat of funds

The cost of funds (capital) is crucial to investment analysis. Lisuslly, the present value
measures of an investiment's economic worth depend on the use of an appropriaie
discount rate {or rate of retum). The most appropriate rate is the firm's cost of capital.
This rate, when determined, provides a yardstick for testing the acceptabiity of any
imvestiment; those that have a high probability of achieving a rate of retum in excess
of the firm’s cost of capital are acceptable.

A firm's cost of capital may be estimated through:

a) the use of the interost rate attainable by "investing” in lending insthulions
{depasits or securities) before taxes as an estimate of opporaunity cost of

capital and

b) the determination of the weightad average after-tax cost of capital, which
reflocts the cost of all forms of capitai the firm uses. The two basic sowrces
of capital are borrowed funds from lending institutions and cwnership or
irtermnal capital represanting profits reinvested in the business.

To estimate the weighted average cost of capiital, one neads 1o determine:
a) the present cost of borrowed or leased funds from each source
b) an average coet of internal capital as reflected by the perceritage of equity

in business and risks being taken and
¢) an adiustment for ncome tax effect.

Cost of borrowesd capital
/
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are keyed to money market conditions, predicting costs of borrowed capital through
time is imprecise. Less difficulty exists when borrowsrs havis gonsiderable long-term
borrowings at fixed rates. Normatly, a rough idea of the average cost of borrowed
capital for a firm is obtained by dividing the total interest paid by the company by the
capital borrowed by the same company.

Cost of ownership {(Equity) caphtal

Cost of ownership capital is more difficult to determine than that of borrowed capital.
Theorstically, one knows that the cost of ownership capital is the opportunity cost of
placing the owner's funds elsewhere in comparable risk situations. Generally, the
guide for selecting an appropriate ownership cost of capital is 10 use the condition that
the cost of equity or ownership capital should be aqual to or greater than the cost of

borrowed capital.
Average cost of caplial

Using a balance sheet or. other information, one can astimate the percentage of the
sources of capital in a business. Assuming that a company has & 50% equity (or will
ammmmmmmmMWmemmmmmm
average cost of capital is estimated as follows:

Table 3.2 Average cost of caplitel
Sources of capital , (1) % of Capital  (2) % of cost  Waeighted coet (1) x {2)
Equity capital borrowed 50 0.10 5.00

40 0.09 3.60
Insurance company 10 0.08 0.80
TOTAL A 9.40
Business ownership costs

There are five ownership costs that every company incurs, namely: depreciation
costs, interest costs, repair costs taxes, and insurance costs, They are commonly
referrad 1o as the "DIRTI 5.

a) Depreciation

This is a procedure for allocating the used up value of durabie asseéts over the period
they are owned by the business or until they are saivaged. By depraciating an asset,
an allowance is made for the doterioration in the asset's value as a result of use (wear
and tear), age and obsolescence. Generslly, property is depreciable if it is used in
business or to eam income;, wears out, decays, gets used up or becomes obsoiete,
and has a determinable useful life of more than one year. The proportion of the
original cost to be depreciated in any one year is largely a matter of judgment and
financial management. Normally, the depreciation allowance taken in any given year
should refiect the actual decline in value of the asset - whether it is designed to
influence income taxes or the undepreciated value of an asset reflecting the resale
value of the asset.

There are four main and acceptable methods of calculating depreciation, namely:

/
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« the accelerated cost recovery system (ACRS) method
« the straight ine method

« the daclining balance method

« the sum of the years-digits method.

The accelerated cost recovery sysiem method is a reiatively new method of
calculating depreciation for tangible property. i came into use effeciively in 1981, As
a method ACRS generally gives much faster write off than other methods becatuse &t
has tax savings as its primary objective. It usually gives litle consideration 10 aciual
year-io-year change in value, Thus, for accounting purposes, other methods are more
appropriate.

For tax purposes, property is classified as follows:-

i) 3 yaar property - automoblies and light-duty trucks used for businoss
purposes and certain special tools, and depreciable property with a

midpoint ife of 4 years or lees.
i) 5 year property - most farm eguipment, grain bins, single purpose structures
mmmwmmmmm,mmmm

ﬁi) 10 your property- inciudes depreciable property with an expecied ife
between 10 and 12.4 years. ‘
iv) 15 year property - buildings.

The straight line method computes depreciation, Ds, as follows:

ocC-8¥
Dy=—

where:
OC = Original cost or basis
SV = Salvage value
L = expacted usoful ife of the asset in the business.

Declining balance method calculates depraciation as:-
Dy=RAVXR

where;
RV = undepreciated vaiue of the assot at the start of the accounting pedod

such that, in year 1, RV = OC, and In succeeding years,

RV, = [RVi, - Dyyq] x R (with salvage value not being deducied from original
vakse before computing depreciation),

H = the depreciation rate, which may be up 1 twice the rate of decline, 1A,
allowed under straight ine method.,

Sum of the year-digits method estimates the depreciation of an asset as follows:-

o

where:
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RY = estimated years of ussful life remaining \
8 = sum of the numbers reprasenting yoars of useful life (i.e. for an asset with
5 years useful life, S would be 142+3+4+456 = 15).

b) interest costs (rates) are incurred by a company when owned or borrowed funds
are invested in diurable assets, because such money is tied up and cannot be
used for other purposes. On borrowed money, there will be a regular interest
payment, a standing obligation which must be met regardiess of the level of use of
the asset purchased with the borrowed money. Also, an interest charge shouid be
calculated on equity capital. In this case, the charge would be an opportunity
interest cost. An annual charge should be made because the money invested has
altemative productive uses, which may range from sarning interest on a savings
account to increasing production.

c) Repairs costs are principally variable costs incurred on assets becauss of the
level of use of the assets through wear and tear. Some durable assets, however,
deteriorate with time evern though they are not used. Fences, buildings and some
moving parts on machinery and equipment are prime examples, aithough they
deteriorate even more rapidly with usse.

d) Taxes are fixed costs that are usually incurred on machinery, buildings and some
other durable assais. Taxes are usually not related to the level of use or
productive services provided. Thus, any investment analysis that ighores the

~annual tax obligation associated with the proposed investment will be incomplete.

8) Insurance costs are also fixed cosis that are incurred when a financed asset is
purchased and has to be protected against fire, weather, theft, etc. Usually,
lenders require that a financed asset be insured as a meant of security for the
loan. Sorme operators, particularly those with low equity, also insure some of their
more valuable assets because of the strain the loss of those assetls would place
on the financial condition of the business. In this couniry, the major insurance
companies are Okd Mutual Insurance and General Accident Insurance, Minet
insurance, Prudential Insurance, efc. Now aftempt exercise 3.5.

Key terms
Average cost
of capital inerest rates
Business ownership costs investing activities
Cash Operating activities
Cash squivalents Pro forma cash fiow statement
Cash flow statement Rapair costs
Cash payments Returns on investment and
Cost of borrowed capital servicing of finance
Cost of equity capital SORS
Depreciation Source and application of funds
DIRTI S Strategic four-factor model
Financing Taxation
Funds use Taxes
insurance costs
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Chapter 4 - Budgetary control

Chapter objectives
This chapter is intended 0 provide:
» An indication and explanation of the importance of
budgetary control in marketing as a key marketing
control

tachnique
o An overview of the advantages and disadvantages of
budgeting

= An introduction to the methods for praparing budgets
» An appreciation of the uses of budigets.

There are two types of control, namely budgetary and financial. This chapler
concentrates on budgetary controt only. This is because financial control was coversd
in detail in chapters one and two. Budgetary controf is defined by the Institute of Cost

and Management Accountants (CIMA) as:

“The estabiishment of budgets relating the responsibilities of executives 1o the
requiroments of a policy, and the continuous comparison of actual with
budgetsd results, either to secure by individual action the objective of that
policy, or to provide a basis for its revision®,

Structure of the chapter

Of all business activities, budgeting is one of the most imporiant and, therelore,
mmmmmmamw&my

and disadvantages of budgetary control. it then goss on 10 ook
mmmawmmhmnmwmummu
management tools, the chapter highlights the need for detalled information, ¥ the
tachnique is to be used 0 ks fullest advantage.

Budgetary control methods

#) Budget:

¢ A formal statement of the financial reasources set aside for canying out
specific aclivities in a given period of ime.
+ It helps 0 co-ondinate the activities of the organisation.
An example would be an advertising budget or sales force budget.
b) Budgetary controk:
« A control technique whereby actusi results are compared with budgets.

¢ Any differences (variances) are made the responsibility of key individuals
who can either exercise conrol action or revise the original budgets.

Budgetary control and responsibliity centres;
These enable managers 1o monitor organizational functions.
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who is responsible for the activities of that unit.

There are four types of responsibility centers:

a) Revenue centers

Organizational units in which outputs are measured in monetary terms but are
not directly compared to input costs,

b) Expense centers

Units wherse inputs are measured in monstary terms but outputs are not.

c) Profit centers

Where performance is measured by the diffierence between revenues
{outputs) and expenditure (inpuls). Inter-departmental sales are often made
using “transfer piices”.

d) investment contres

Where outputs are compared with the assets employed in producing them, i.e.

ROI.
Advantages of budgsting and budgetary control
There are a number of advantages to budgsting and budgetary coritrot:

s Compeis management to think about the future, which is probably the most
important feature of a budgetary planning and control system. Forces
management to look ahead, to set out detailed plana for achieving the
targets for each department, operation and (ideally) each manager, to
anticipate and give the organisation purpose and direction.

» Promotes coordination and communication.

= Clearly defines areas of responsibility. Requires managers of budget centres
to be made responsibie for the achievernent of budget targets for the
operations under their personal control.

+ Provides a basis for performance appraisal {variance analysis). A budget is
basicaily a yardstick against which actual performance is measured and
assessexi. Control is provided by comparisons of actual results against
budget plan. Departures from budget can then be investigated and the
reasons for the differences can be divided into controllable and non-
controllable factors.

« Enables remedial action to be taken as variances emarge.

» Motivates employses by participating in the setting of budgets.

« Improves the allocation of scarce resources.

+ Economises management time by using the management by exception
principle.

Problems In budgeting
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number of disadvantages, particularly in perception terms.
me&masmmwwmm

b) departments biaming each other if targets are not attained.

» It is difficult 1o reconcile personal/individual and corporate goals.

» Wasio may arise as managers adopt the view, "we had better spend & or we
will lose it*. This is often coupled with “empire building” in order 10 snhance
the prestige of a department.

Responsibility versus condrolling, L.e. some costs are under the influence of
more than one person, 6.g. power costs.

= Managers may oversstimate costs so that they will not be biamed in the

A good udget is characterized by the following:

» Participation: involve as marny people as possible in drawing up a baxiget.
» Comprehensiveness: embrace the whole organtzation.

s Standards: base it on established standards of perforrnance.

+ Flaxdbility: allow for changing circumetances.,

» Feadback: constantly monitor performance.

s Analysis of costs and revenues: this can be done on the basis of product

nes, departments or cost conters.

Budget organization and administration:
in organizing and administering a budget system the following characloristics may

a) Budget centras: Linlks responsibie for the preparation of budgets. A Dudget
centre rmay encompass several cost centres.

b) Budget cormmitiee: This may congist of senior members of the organisation,
6.g. deparimental heads and exacutives (with the managing direcior as
chairman). Every part of the organisation should be represented on the
commitiee, 80 there should be a representative from sales, production,
marketing and so on. Functions of the budget committee include:

» Coordination of the preparstion of budgets, including the lssue of a
+ Jssuing of timetables for preparation of budgets

« Provision of information 1o assist budget preparations
+ Comparison of actual results with budget and investigation of
variances.

¢) Budget Officer; Controls the budget administration The job involves: /
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/ » liaising between the budget committes and managers responsible for \
budget preparation

» dealing with budgetary control problems

« ansuring that deadlines are met

« pducating people about budgetary control.

d) Budget manusl:
This document:

» charts the orgenisation

« details the budget procedures

« contains account codes for items of expenditure and revenue

» timetabies the process

« clearly defines the responsibility of persons involvad in the budgeting
system.

Budget preparation

Firstly, determine the principal budget factor. This is also known as the key budget
tactor or limiting budget factor and is the factor, which will limit the activities of an
undertaking. This limits output, e.g. sales, materiai or labour.

a) Sales budget: this involves a realistic sales forecast, This is prepared in units of
each product and also in sales value. Methods of sales forecasting include:

+ sales force opinions

= market research

= statistical methods (correlation analysis and sxamination of trends)
» mathematical modeis,

in using these techniques consider:

* compary's pricing policy

» genaral economic and political conditions

» changes in the population

« competition

» consumers’ incoms and tastes

» advertising and other salas promotion techniques
» after sales service

« credit terms offered.

b} Production budget: expressed in quantitative terms only and is geared to the sales
budget. The production manager's duties include:

« analysis of plant utifisation
. -in-progress budgets.

it requirements exceed capacity he may:

\ :piaﬂ for overtime /
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« intmoduce shift work
« hire or buy additional machiner,
« The materials purchases budget's both quantitative and

0) M materials W

« The materials usage budget is in quantities.
’m Whm sanditative

influencing a) and b) include:

* production requirement
‘mmm

* storege space

« trends of material pric

'MW
» man-hours avaliable
» wage rales (Union agreements)

@) Cash budget: a cash plan for a defined period of ime. It sismmarises monthly
mwmmawmmmﬁmaﬂ
casgh, s main uses are:

« 10 maintain control over a firm's cash requirements, e.g. stock and deblors
« 10 enable a firm t take precaitionary measures and arrange in advance for
» 10 show the feasibility of management's plans in cash terme
= - “ n gement policy, e.9.

of tenme offered to customers.

Reoeipts of cash may come from one of the following:

» cash sales
= payments by deblors

» the sale of fixed assets

» the issue of new shares

» the receipt of interest and dividends from investments.

Payments of cash may be for one or more of the following:

.mdm
* payments of wages or other expenses
« purchase of capltal kems

Steps in prepering a cesh budget
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layout.

Month 1 Month 2 Month 3
$ $ $

Cash receipts
Recsipts from debiors

Sales of capital tems

Loans received

Proceeds from share issues

Any other cash receipts

Cash payments

Payments to creditors

Wages and salaries

Loan ropayments

Capital expenditure

Taxation

Dividends

Any other cash expenditure

Receipts less payments

Opening cash balance b w X Y
Closing cash balance o/t )4 b g
ii} Step 2: sort out cash receipts from debtors

iii) Step 3: other income

iv) Step 4: sort out cash payments to suppliers

v} Step &: establish other cash payments in the month

Figure 4.1 shows the composition of 8 master buciget analysis.
Figure 4.1 Composition of a master budget

QOPERATING BUDGET FINANCIAL BUDGET
conaigts of- consists of

Budget PA. acc: get: Cash budget
Production budget Balance shaet
Materials budget Funds statermnent
Labour budget

Admin. budget

Stocks budget

f) Other budgets:
These include budgets for:

» administration

« research and development

« selling and distribution expensss
 capital expenditures

= working capital (debtors and creditors).

The master buciget {figure 4.1} lustrates this. Now attempt exercise 4.1, :
| 65
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Exercise 4.1 WI \\

Draw up a cash budget for D. Sithole showing the balance at the end of each month,
from the following information provided by her for the six monthe ended 31 Decernber
19X2.

a) Opening Cash $ 1,200.

2001 2002
Sales at $20 perunit MAR APR MAY JUN JUL AUG SEP OCT NOV DEC JAN FEB
260 200 320 290 400 300 350 400 390 400 260 250

Cash is received for sales after 3 months following the sales.

cJProductioninuniis: 240 270 300 320 350 370 380 340 310 280 250

d) Raw materials cost $5/unit. Of this 80% is paid in the month of production and 20%
after production.

&) Direct labour costs of $84unit are payable in the morith of production.

f) Variable expenses are $2/unit. Of this 50% is pakd in the same month as production
and 50% in the month following production.

g) Fixed expenses are $400/month payable each month.

h) Machinery costing $2,000 to be paid for in October 19X2.

i) Will receive a legacy of $ 2,500 in Dacomber 19X2.

i) Drawings to be $300/month, g

An example ,
A sugar cane farm in the Lowveld district may devise an operating budget as follows:

+ Cuitivation

» lrvigation

+» Figki maintenance

» Harvesting

= Transportation.
With each operation, there will be costs for inbour, mederials and machinery usage.
Therelore, for e.g. harvesting, these may includa four resowurces, namely:

» Labour:

-Ccutting
-sundry

o Tractors
» Cane trallors
« implements and sundries.

Having identified coet contres, the nexd step will be 0 make a quantial

of the resources mmmm»mmmmwmma@,
mum&smmmmmdmmwmmhmm
shorter it is, the greater the control that can be exercised by the budget but the

greater the expense in preparation of the budget and reporting of any variances. /
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The quantitative budget for harvesting may be calculated as shown in figure 4.2.

Figure 4.2 Quantitative harvesting budget

Harvesting 1st quarter 2nd quarter 3rd quarter 4th quarter
Labour .

Cutiing nil 9,000 tonnes 16,000 tonnes 10,000 tonnes
Sundry nil 300 man days 450 manndays 450 man days
Tractors it 830 hours 1,100 hours 700 hours
Cane trailers nil 9,000 tonnes 18,000 tonnes 10,000 tonnes
Imp, & sundries nil 9,000 tonnes 16,000 tonnes 10,000 tonnes

Each item is measured in different quantitative units - tonnes of cane, man days efc.-
and depends on individual judgement of which is the best unit to use.

Once the budget in quantitative terrns has been prepared, unit costs can then be
allocated to the individual items fo amive at a budget for harvesting in financial terms
as shown in table 4.2,

Charge out costs

In table 4.2 tractors have & unit cost of $7.50 per hour - machines ke tractors have a
whole range of costs ke fuel and oil, repairs and maintenance, driver, ficence, road
tax and insurance and depreciation. Some of the costs are fixed, e.g. depreciation
and insurance, whereas some vary directly with use of the tractor, e.g. fuel and oil.
Other costs such as repairs are unpredictable and may be very high or low - an
estimated figure based on past axperience.

\\\

Figure 4.3 Harvesting cost budget
tern harvesting  Unit cost 1stquarter 2nd 3rd quarter 4th quarter Total
quarter

Labor

Cutting $0.75 pertonne - 6,750 12,000 7.500 26,250
Sundry $2.50 per day - 750 1,125 1,125 3,000
Tractors ‘$750perhowr - 4,725 8,250 5,250 18,225
Cane Trallers $0.15pertonne - 1,350 2,400 1,500 5,250

2250 4,000 2,500 8,750

Imp. & sundries  $0.25 per tonne
$15,825 $27,776  $17875  $61,475

So, overall operating cost of the tractor for the year may be budgeted as shown in
figure 4.4.

If the tractor is used for more than 1,000 hours then there will be an over-recovery on
its operational cosis and if used for less than 1,000 hours there will be under-
recovery, i.e. in the first instance making an internal "profit’ and in the second a oss’.
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Figure 4.4 Tractor costs

Unit ralo Cost por anram: {1,000 hours)

Fixed costs Depreciation 2,000.00 2,000.00
Licence snd insurance 200.00 200.00
Driver 100.00 per month 1,200.00
Repeairs 600.00 per anrum 800.00
Varkable costs  Fuel and olf 2.00 per hour 2.000.00
Maintenance 3.00 per 200 hours 1.500.00
150000
No. of hours used 1,000.00
Cost per hour 7.50
Mastor budget

The master budget for the sugar cane farm may be as shown in figure 4.5. The

Reporting back

costs against

budget ropresents an overall objective for the farm for the whole year ahead,
exprogsad n financial tarms.
Tabie 4.5 Operating budget for sugar cane farm 19X4
15 quarter  2nd guarter  Srd quarier  4th quarter Yol §
Revenue from cane 130,000 250,000 120,000 $500.000
Less: Costs
Cultivalion 37.261 48268 42,388 55418 183,313
Irrigmiion 7278 15297 18473 11329 82377
Flold mainenancs 4,826 12,929 15901 7,82 41,002
Harvesting - 15,825 a7 17875 51475
Transporiation . 14,100 24,750 15,750 54,000
49,985 108413 120357 107,832 2707
Add: Opening valuadion 85,800 135188 112240 84,200 65,800
135,165 241,578 241597 01,002 478.567
Leas: Closing velusiion 135,165 112,240 94,260 90,290 90,280
Net crop cost - 120338 147,337 111,002 277
Gross surplus - 68200 102,003 8,598 111,723
Less: Overhoads 5878 7,961 7488 53 /O
Net profiless) {5.,876) {6,008} 93,177 3077 85,679
Once the operating budget has been propared, two further budgets can be done,
namely: '
i. Balance shoeat at the end of the yoer.

i. Cash fiow budget which shows the amount of cash necessary 10 support the
operating budget. it is of great importance that the business has sufficient
funds to support the planned operational budget.

During the year the management accouritant wil prepare siatements, as quickly as
pombb&ﬁeraadmmmpwnd,nmmpb each quarier, setting out the
the budgeted costs. This statement will calculato the

actual operating
cifference between the budgeted” and the "actual’ cost, which is called the ‘variance’.

J
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There are many ways in which management accounts can be preparad. To continue \

with our example of harvesting on the sugar cane farm, management accounts at the
end of the third quarter can be presented as shown in figure 4.8.

Figure 4.6 Mansgement accounis - actual costs against budget costs
Management accounts for sugar cane farm 3rd quarter 19X4

3rd quarter Year 10 data
Actual Budget Variance Actual  Budget Variance
tem Harvesting
Labour

- Cutting 12,200 12,000 (200) 19,060 18,750 {310}

- Sundry 742 1,125 383 1,584 1,875 201
Tractors 9,375 8,250 (1,125} 13,500 12,975 - {525)
Cane trailers 1.678 2,400 722 2,505 3,750 1,245
Imp & sundries 4,270 4,000 {270) 8,513 6,250 {263)

28,265 27,775  {490) 43,182 43,600 438

Here, aclual harvesting costs for the 3rd quarter are $28,265 against a budget of
$27.775 indicating an increase of $490 whilst the cumulative figure for the year 1o
date shows an overali saving of $438. it appears that actual costs are less than
budgeted costs, so the harvesting operations are proceeding within the budget set
and satisfactory. However, a further look may reveal that this may not be the case.
The budget was based on a cane tonnage cut of 16,000 tonnes in the 3rd quarter and
a cumulative tonnage of 25,000. If these tonnages have been achieved then the
statement will be satisfactory. If the actual production was much higher than budgeted
then these costs represent a very considerable saving, even though only & marginal
saving is shown by the variance. Similarly, if the actual tonnage was significantly less
than budgeted, then what is indicated as a marginal saving in the variance may, in
fact, be a considerable overspending. _

Price and quantity variances

Just to state that there is a variance on a particular itemn of expenditure does not really
mean a lot. Most costs are composed of two elements - the quantity used and the
price per unit. A variance between the actual cost of an item and s budgeted cost
may be due ic one or both of these factors. Apparent similarity between budgeted
and actual costs may hide significant compensating variances between price and
usage. ,

For example, say it is budgeted 1o take 300 man days at $3.00 per man day - giving a
total budgeted cost of $600.00. The actual cost on compistion was $875.00, showing
a saving of $25.00. Further investigations may reveal that the job took 250 man days
at a daily rate of $3.50 - a favourable usage variance but a very unfavourable price
variance. Management may therefore need to investigate some significant variances
revealed by further analysis, which a comparison of the total costs would not have
revealed. Price and usage variances for major tems of expense are discussed below.

Labour

The difference between actual labour costs and budgeted or standard labour costs is
known as direct wages variarnce. This variance may arise due to a difference in the
amount of labour used or the price per unit of lebour, 1.e. the wage rate. The direct

J

wages variance can be spiit into:
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{) Wage rate variance: the wage rate was higher or lower than budgeted, o.g. \
using more unskiled labor, or working overtime at a higher rate.

ii) Labor efficiency variance: arises when the actual time spent on a particular

job is higher or lower than the standard tehor hours specified, e.g. breakdown
of 2 machine.

Matorials

i} Matevial price variance: arises when the actusl unit price is groater or lower
than budgsted. Could be due to infiation, discounts, altermnative suppliers eic.

i) Material quantity variance: arises when the actusl amount of material used
is greater or lower then the amount specified in the budget, e.9. a budgeted
fortiiseor at 350 kg per hectare may be increased or decreased when the
actual fertiliser is applied, giving rise 10 a usage veriance.

Outhudu_
Again, overhead variance can be spiit info:
) Ovarhead volume varance: where overheads are taken inko the cost
cenires, & production higher or lower than bucdgeted will cause an over-or
under-absorption of overheads.

i} Overhead exponciure variance: where the actual overhead expsndihse is
higher or lower than that budgeted for the lewel of oulput aclually

produced.
| Calculation of price and usage variances
The price and usage variance are calculated as follows:

Price variance = {budgeted price - MW}XWM !
Usage variance = (budgeted quantity - actual quantity) X |
Now atiompt exercise 4.2.

Exerciss 4.2 Computation of labour veriences

It was budgeted that it would take 200 man deys at $10.00 per day % compiete the
task costing $2,000.00 when the actual cost was $1,875.00, being 150 men days at
$12.50 per day. Calculate:

i) Price variance
ii) Usage variance

Comment briefly on the results of your calculation.
Management action and cost control /
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Producing information in management accounting form is expensive in terms of the \
time and effort involved. It will be very wasteful if the information once produced is not

put into effective use.
Therearaﬁvepanéman effective cost control system. These are:

a) preparation of budgets

b} communicating and agreeing budgets with all concerned

¢} having an accounting system that will record ail actual costs

d) preparing statements that will compare actual costs with budgets, showing
any variances and disclosing the reasons for them, and

o) taking any appropriate action based on the analysis of the variances in d)
above.

Action(s) that can be taken when a significant variance has been revealed will depend
on the nature of the variance itself. Some variances can be identifiad to a specific
department and it is within that depariment’s contral 10 take corrective action, Other
variances might prove to be much more difficult, and sometimes impossible, to
control. ,

Variances revealed are historic. They show what happened last month or last quarter
and no amount of analysis and discussion can alter that, However, they can be used
to influence managerial action in future periods.

Zero base budgeting (ZBB)

After a budgeting syster hag been in operation for soma time, thare is a tendency for
next year's budget to be justified by reference to the actual levels being achiéved at
present. in fact this is part of the financial anaiysis discussed so far, but the proper
analysis process takes into account all the changes which should affect the future
activities of the company. Even using such an analytical base, some businesses find
that historical compariscns, and particularly the current lovel of constraints on
resources, can inhibit really innovative changes in budgets. This can cause a severe
handicap for the business because the budget should be the first year of the long
range plan. Thus, if changes are not started in the budget periad, it will be difficult for
the business to make the progress necessary to achieve longer term objectives.

One way of breaking out of this cyclical budgeting problem is to go back to basics and
develop the budget from an assumption of no existing resources (that is, a zero
base). This means all resources will have o be justified and the chosen way of
achieving any specified objectives will have to be compared with the altematives. For
example, in the sales area, the current existing field sales force will be ignored, and
the optimum way of achieving the sales objectives in that particular market for the
particular goods or services should be developed. This might not include any field
sales force, or a different-sized team, and the oonmnythenhastopian how to

implement this new strategy.

mmmmm:mbudgaﬁngpmismmmmm
managerial time needed fo carry out the exercise. Hence, some companies carry out
the full process every five years, but in that year the business can almost grind to a
halt. Thus, an altemative way is to ook in depth at one area of the business sach
year on a rofling basis, so that sach sector does a zero base budget every five years

oF 50.
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4 Chapter 5 - Information for decision
making

\

Chapter objectives

This chapter is intended 1o provide:

« An overview of the elements required for manager to make informed
decisions among alternative courses of action

« An explanation of the relevant costs for decision making purposes

» The construction of Cost-Volume-Profit analyses and Breakeven
chants and their usefulness in decision making

+ The factors affecting the economic choice of whether to make
components in-house or buy from outside

s How to make decisions on shutdown, additions or deletions to
product lines or ranges, important to marketing managers.

The need for a decision arises in business because a manager Is faced with a problem
and alternative courses of action are available. In deciding which option to choose he
will need all the information which is relevant to his decision; and he must have some
criterion on the basis of which he can choose the best alternative. Some of the factors
affecting the decision may not be expressed in monetary vaiue. Hence, the manager

will have to make ‘qualitative’ judgements, e.g. in deciding which of two personne!
shouid be promoted t0 & managerial position. A 'quantitative’ decision, on the other
hand, is possible when the various factors, and relationships between them, are
measurable. This chapter will concentrate on guantitative decisions based on daia
axpressed in monetary vaiue and relating to costs and revenues as measured by the

management accountant.
Structure of the chapter

Often "information® is interpreted by marketers as being “extemal® market based
information. However, "intermal® sources are just as important, none more 30 than
financial information. The chapter looks at the relevant elaments of cost for decision
making, then looks at the various techniques including breakeven analysis. Other
important buginess decisions are whether to source components intemnally or have
them brought in from outside, and whether to continue with operations if they appear
uneconomic. The chapter examines the techniques useful in helping to make decisions

in these areas.
Elements of a decision
A quantitative decision problem involvas six parts:
a) An objective that can be quantified Sometimes referred to as 'choice

criterion’ or ‘objective function’, e.g. maximisation of profit or minimisation of total
costs.

N v J/
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limited raw materials, labour, elc. it is therefore common 1o find an cbjective that
will ma)imise profits subject to defined constraints.

¢} A range of altermative courses of action urxier consideration. For axample,
&z m 10 minimise costs of a manufacturing operation, the avaliable
-:;;:'_v_;,;
i)mmmmmmguam
ii) to change the manufacturing method
lii) to sub-contract the work 10 a third party.

d) Forecasting of the incremental costs and benelits of cach allemailive course
of action.

@) Appiication of the decision criteria or objective function, e.g. the calculation
of expectad profit or contribution, and the ranking of alernatives.

f) Choice of preferred altematives.
Relevant costs for decision making

The costs which should be used for decision making are often refarred 10 as “relevent
costs”. CIMA definos rolevant cosis as ‘coets appropriate to aiding the making of

specific management decisions’.
To affect a decision a cost must be:

a) Future: Past costs are irelevant, as we cannot affect them by current decisions
and they are common o all akematives that we mey choose.

b) incremenial: * Moaning, expenditure which will be incurred or avoided as a result
of making a decision. Any costa which would be incurred whether or not the
decision is made are not said 1o be incremental to the decision.

¢) Cash flow: Expensos such as depreciation are not cash flows and are thevelore
not relevant. Similarly, the book vailue of axisting equipment is imslevant, but the
disposal value is relevant.

Other terms:

d) Common costs: Costs which will be identical for all altarnatives are irslevant, a.g.
rent or rates on & factory would be incurred whatever products are produced.

e) Sunk costs: Another name for past coets, which are alwaya irrelevant, e.g.
dedicatad fixed assets, development costs already incured.

f) Commitiad costs: A future cash outflow that wik be incurred anyway, whatover
decision is taken now, e.g. contracts akeady entered inko which cannot be
altered.

Opportunity cost

Relovant costs may aiso be expressad as opporkunily cosis. An opportunity coet is the
benefit foregone by choosing one opportunity instead of the naxt best akemative.

\_ Exampie J
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Aoompanyiscomidamggub}ssh&\galm;ed edition book boundkaawecialiaatiwr k\\
has in stock the leather bought some years ago for $1,000. To buy an equivaient
quantity now would cost $2,000. The company has no plans to use the leather for other
purposes, although it has considerad the possibilities:

for other material which

a} of using it to cover desk fumishings, in replacemen

could cost $900
b) b) of selling it if a buyer could be found (the proceeds are unlikely to exceed
$800).

In calculating the fikely profit from the proposed book before deciding to go ahead with
the project, the leather would not be costed at $1,000. The cost was incurred in the past
for sorne reason which is no longer relevant. The leather exists and could be used on
the book without incurring any specific cost in doing so. In using the leather on the
book, however, the company will lose the opportunities of either disposing of it for $800
or of using it to save an outlay of $900 on desk furnishings.

The better of these alternatives, from the point of view of benefiting from the leather, is
the latter. "Lost opportunity® cost of $900 will therefore be included in the cost of the

book for decision making purposes.
The relevant costs for decision purposes will be the sum of:
i) ‘avoidable outlay costs’, i.e. those costs which will be incurred only if the
book project is approved, and will be avoided # i is not
if) ii} the opportunity cost of the leather {not represented by any outlay cost
in connection to the project).
mismta!isamwmﬁmof’mmmf‘
Now atternpt exercise 5.1. A
Exercise 5.1 Relevant costs and opportunity costs
Zimglass Industries Lid. has been approached by a customer who would like a special

job to be done for him, and is willing to pay $60,000 for it. The job would require the
following materials.

Material  Total units Unasalmsdyk Book value of units Realisable value Ra;smmnm

required stock in stock $/unit m Sunit
A 1000 ) 16.00
B 1000 800 12.00 12.50 15.00
c 1000 700 1300 12.50 14.00
D 200 200 14,00 16.00 19.00

a) Material B is used regularly by Zimglass Industries Ltd, and i units of B are
required for this job, meywwidneedwbereplaoadtemm

production demands.

b} Materiais C and D are in stock due to previous over-buying, and they have
restricted use. No other use could be found for materiai C, but the units of
material D could be used in another job as a substitute for 300 units of

/
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units in stock at the moment).

Caiculate the relevant costs of material for deciding whether or not 10 accept the
contract. You must carefully and clearly expiain the reasons for your treatment of sach
material.

The assumptions in relevant costing
Some of the assumgtions made in relevant costing are as follows:

a} Cost behaviowr patterns are known, e.g. if a department closes down, the
attributable fixed cost savings wouki be known.

b) The amount of fixed coels, unit varisble costs, sales price and sales demand are
known with cortainty.

¢} The objective of decision making in the short run is 10 maximiss ‘satisiaction’,
which Is often known as ‘short-term prolit’.

d} The information on which a decision is based is compiate and reliable.

Cost-volume-profit (CVP) anslysis

CVP analysis inwolves the analysis of how tolal costs, total revenuos and toial profits
are reiated 10 sales volume, and is therefore concemed with predicting the effects of
changes in costs and sales volume on profit. It is also known as ‘breakeven analysis’.

The technique used carefully mey be helpful in the following situations:

a) Budget planning. The volume of sales required o make a profit {oreakeven
poirt) and the "safety margin’ for profits in the budget cen be measured.

b} Pricing and salee volume decisions.

c;mmmmnmmmmmmwm

d} Decisions that will affect the cost structure and production capecity of the

compary.
The basic principies of CVP snalysis

CVP analysia is based on the assumption of a linear tolal cost imclion {constant unk
WMMWMM)wnmedwnm

principles.
The principles of marginal coating can be summarized as follows:

&) Period fixad costs are a constant amount, therefore i one extra unit of product i
made and soid, total costs will only rise by the variable cost (the margined cosl)
of production and sales for that unit.

b) Also, total costs will fall by the variable cost per unit for each reduction by one unik
in the level of activity.

¢) The additional profit eamed by making and selling one extra unit is the extra
revenue from its sales minus its variable costs, Le. the contribution per unit.

d) As the volume of activity increases, there will be an increase in total profits (or a
reduction in losses) equal 1o the iotal revenue minus the tolal extra variable

costs. This is the extra contribution from the exira outpout and sales. /

i
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7 ¢) The total profit in & period s the total revenue minus the total variable cost of )
goods sold, minus the fixed costs of the period.

Revenue X
Variable cost of sales )
CONTRIBUTION X
Fixed Costs ®
PROFIT X

Example: breakeven charts and P/V charts

Sabra Products Ltd. makes and selis a single product. The variable cost is $3/unit and
the variable cost of selling is $1/unit. Fixed costs totai $6,000 and the unit sales price is

$6.
Sabrepwdumm.mﬁmmwmkeandséﬁa.smmmﬁwﬁeﬁw.

Draw a breakeven chart, and a P/V graph, each showing the expected amount of output
and sales required to breakeven, and the safety margin in the budget.

Solution:

A breakeven chart records the amount of fixed costs, variable costs, total costs and
total revenue at all volumes of sales, and at a given sales price as follows:

Figure 5.1 Breskeven chart

21;800 B D T YT e Too Y e pepepepeapsp——

Breakeven

LI TR T T

18,000

o5
p

4
&

ﬁtm """

l:?/ 4
Fixed cost
¥ t!

v ¥
1,000 2,000 3,000 3,600
Output /Seles units

e un-u-aafnn-o

o

The ‘breakeven poirt is where revenues and total costs are exactly the same, so there
is no profit or loss. it may be expressed in terms of units of sale or in terms of sales
revenus. Reading from the graph, the breakeven point is 3,000 units of sale and

$18,000 in sales revenue.
The 'margin of safety’ is the amount which actual oug}uﬂsé!& may fall short of the

budget without a loss being made, often expressed as a percentage of the budgeted
sales volume. It is a rough measure of the risk that Sabre Products might make a loss if

5
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Figure 5.2 The profit/ivolume (P/V) graph
s %
1o o
| e $18000 5o
Contribution ine. -~
epoof”

i faiks 1o achieve its budget. In our exampie, the masgin of safety is calculated as )

follows:
Uniks
Budgeted sales 3.000
Broakeven point J.000
Margin of safety (MOS) £00
As a percentage of budgeted sales; the
600
MOS-T5w
= 16.67%.

A high margin of safety shows a good axpectation of profits, aven ¥ the budget is not
achieved.

The Profit'Volume (P/V) graph

The PNV graph is similar to the breakeven chart, and records the profit or loes at each
level of sales, at a given sales price. it is a straight line graph, drawn by recording the

i) the loss at 2er0 sales, which is the full amount of fived costs
ii) the profit/{ices) at the budgeted sales level.

xmm::mmw;p. in our example above, the PA/graph would ook Bike

The breakeven point may be read from the graph as $18,000 in sales revenue, and the
margin of safety is $3,600 in sales revenue or 16.67% budgeted sales revenue. /
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The arithmetic of CVP analysis \
a)To calculate the breakeven point the following formula applies:

S = V+ F at the breakeven point,

where:
S = sales revenue
V = variable costs
F = fixed costs (so that V + F = total costs).

Therefore:

(S-V=F

At the breakeven point, total contribution (S - V) equals the amount of fixed costs {F).

b} To calculate the amount of sales needed to achieve a target profit the following
formula applies:

SSViFiP
Therefore,
B-V=FiA

To eam a target profit, the total contribution (S - V) must be sufficient to cover fixed
costs plus the amount of profit required (F + P). ‘

Now attemnpt exercise 5.2.
Exerclse 5.2 Arithmetic of CVP analysis

Ndiovu Ltd. manufactures a single product, which has a variable cost of sale of $8/unit
and a sales price of $12/unit. Budgeted fixed costs are $24,000.

Required:
Calculate the volume of salas that would be required to achleve the following:

a) Breakeven
b) Eam a profit of at least $8,000.

The contribution/sales ratio (C/S ratio)

The C/8 ratio shows how much contribution is eamed per $1 of sales revenue samed.
Since costs and sales revenues sre linear functions, the C/8 ratio is constant at all
levels of output and sales. it is used sometimes as a measure of performance or
profitability, and in CVP analysis to calculate the sales required to breakeven or eamn a
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target profit or the expectad total contribution at a given volume of sales and with & )
given C/S ratio.

As an alternative method of caiculation, the breakeven point in sales revenus s
calculated as follows:

Mm - Pind cosis
CiSratty 7 Sraio

Similarly, the sales volume neaded 1o achiove a target profit is calculated as follows:

Reguired cortribution _ Femd costs + profit
&1 Sratic O/ Srailo

In exercise 5.2, the G/S ratio is

a) The breakeven point is therefore

Reguired contribulion _ $24000
C/Smiio BY% |

Required sales to breakeven
= $72,000 or divided by $12 = 6,000 units
b} To achieve a target profit of $6,000 the roquired sales are calculsied as;

Required contribusion _ $30,000
C/Satio BY% |

= $80,000
or divided by 12
= 7,500 unite

Make or buy decisions

A compeary is often taced with the decision as 1o whether R should manufachwre
componert or buy it outside.

Suppose for example, that Masanzy Lid. meke four components, W, X, Y and Z, with
expected costs for the coming year as follows:

_J
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W X Y Z
Production {units} 1,000 2,000 4,000 3,000
Unit marginal costs $ $ $ $
Direct materials 4 5 2 4
Direct labour 8 9 4 8
Variable production overheads 2 3 R 2

1 iH4 Z 12
Direct fixed costs/annum and comrnitted fixed costs are as follows:
Incurred as a direct consequence of making W 1,000
Incurred as a direct conseguence of making X 5,000
Incurred as a direct consequence of making Y 6,000
Incurred as a direct consequence of making Z 8,000
Other committed fixed costs 30.000

30.000

A subcontractor has offered to supply units W, X, Y and Z for $12, $21, $10 and $14
respectively.
Decide whether Masanzu | td, should make or buy the components.
Solution and discussion

a)mmmm;mm&ﬁemﬁa!mmmmmwm They
consist of differances in unit variable costs plus differences in directly ettributab&e fixed
costs. Summamﬁﬂmmﬁmmngsenﬁxwm

Lid X Y Z

s $ $ $
Unit variable cost of making 14 17 7 12
Unit variable cost of buving _ 12 21 10 14

@ =4 e 2
Annual requirements in units 1,000 2,000 4,000 3,000
Extra variabie cost of buying per annum {2,000} 8,000 12,000 6,000
Fixed cost saved by buying 1.000 £2.000 £.000 £.000
Extra total cost of buying @000 3000 §000 _ (20000

b) The company would save $3,000/annum by sub-contracting component W, and
$2,000/annum by sub-contracting component Z. '

) In%eW.MMmmmﬁwwm&thmm.m
variable costs of sub-contracted units, and the saving in fixed costs,

d) Other important congiderations are as follows:
i}y f components W and Z are sub-contracted, the company will have spare

capacity. How should that spare capacity be profitably used? Are there
hidden benefits to be obtained from sub-contracting? Wil there be

\ resentment from the workforce? /
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of closure ($1 million) against the annual benefits ($100,000 per armsn).
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it is possible for shutdown problems to be simplified into short run decisions, by rm.leng\
one of the following assumptions

a) Fixed asset sales and redundancy costs would be negligible.
b) Income from fixed asset sales would match redundancy costs and so these
items would be self-cancelling.

In these circumstances the financial aspects of shutdown decisions would be based on
short run relevant costs.

Now atternpt exercise 5.4.
Exercise 5.4 Adding or deleling products

Brass Lid. mammm, Swans, Ducks and Chicks. The present net
annual incomea from each item is as follows:

Swans Ducks Chicks Total

$ $ $ $
Salos 50,000 43,000 60,000 150,000
Variable costs 20.000 £5.000 35.000 20000
Contribution 20,000 15,000 25,000 60,000
Fixed costs 17.000 18.000 20.000 £5.000
Profit/(loss) 2000 Q000 3000 5.000

Brass Lid. is concemed about its poor profit performancs, and is considering whether or
not to cease selling Ducks. It is felt that selling prices cannot be increased or lowered
without adverssly affecting net income. $5,000 of the fixed costs of Ducks are direct
ﬂmmmmmﬁwﬁﬁpfwwﬁonm All other fixed costs will remain

the same.

a) Advise Brass Lid. whether or not @ cease production of Ducks.
b} Suppose, however, it were possible to use the resources realised by stopping
production of Ducks, and switch to produce a naw item, Eagles, which would
sell for $50,000 and incur variable costs of $30,000 and extra fixed costs of
$6,000. What will the new decision be?

Key terms
Breakeven analysis . Opportunity costs
Contribution/sales ratio Profit-volume charts
Cost-volume-profit analysis Relovant costs
Decision making Shgtdewn

Make or buy decisions
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Chapter 6 - lnvestment decisions - A

Capital budgeting

Chapter objectives

This chapter Is intended to provide:
» An understanding of the importance of capital budgeling in
marketing decision making
= An explanation of the different types of investment project
+ An infroduction to the economic evaluation of nvestment

proposais

« The importance of the concept and calculation of net present
value and internal rate of ratum in decision making

s The advantages and disadvantages of the payback method
as a technique for initial screening of two or more
competing projects.

Capital budgefting is vital in marketing decisions. Decisions on nvestment, which take
time to mature, have 1o be based on the retums which that investment will make.
Undess the project is for social reasons only, if the investment is unprofitable in the
long run, i is unwise to invest in it now.

Oftan, it would be good 1o know what the prasart value of the futre investment s, or
how long it will take to mature (give retums). It could be much more profitable puting
the planned investmernt money in the bank and saming interest, or investing in an
altemative project.

Typical investment decisions include the decision 10 bulki another grain sllo, cotion
gin or cold store or invest in a new distribution depot. At a lower level, marketers may
wish 1o evaluate whether to spend more on advertising or increase the sales force,
although & is difficull ®» messure the sales t0 advertising ratio.

Structure of the chapter

Capital bucigeting is very cbviously a vital activity in business. Vast sums of money
can be easily wasted i the invesiment tums out 10 be wrong or uneconomic. The
subject matter is difficult 1o grasp by nature of the topic covered and aleo becauss of
the mathematical content involved. However, it seeks 10 bulld on the concept of the
future value of money which may be spent now. it does this by examining the
techniques of net present value, intemal rate of retum and annuities. The timing of
cash flows are important in new investment decisions and 30 the chapter looks at this
*payback” concept. One problem which plagues deveioping courdries is “inflation
rates™ which can, in some cases, excead 100% per annurmi. The chapler onds by
showing how markseters can take this in to account.

Capital budgeting versus current expenditures
A capital investment project can be distinguished from current expenditures by two
foatures:

S
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a) such projects are relatively large
b) a significant period of time (more than one year) elapses between the
investrnent outlay and the receipt of the benelits..

As a result, most medium-sized and large organisations have developed special
procedures and methods for dealing with these decisions. A systematic approach to
capital budgeting implies:

a) the formulation of fong-term goals
b) the creative search for and identification of new investment opportunities
c) classification of projects and recognition of economically and/or statistically

depeandent proposals

d) the estimation and forecasting of current and future cash flows

o) a suitable administrative framework capable of transterring the required
information to the decision level

f) the controlling of expenditures and careful monitoring of crucial aspacts of

project execution
g) a set of dacision rules which can diﬂerentlate acceptable from unacceptable

alternatives is required.

The last point (g} is crucial and this is the subject of later sections of the chapter.
The classification of investment projects
8) By project size
Small projects may be approved by departmental managers. More careful analysis
andBoazﬁof&h‘mﬁnmappm!isneededforlargepmfectsof say, half a million
dollars or more.
b} By type of banefit to the firm

» an increase in cash flow

+ a decrease in risk
= an indirect benefit (showers for workers, atc).

¢) By degree of dependence

» mutually exclusive projects (can execute project A or B, but not both)
+ complementary projects: taking project A increases the cash flow of project
B

o'subsﬁttmpmim:takinggroject&dmm the cash flow of project B.
d) By degree of statistical depandence

« Positive dependence

» Negative dependence

« Statistical independence.
©) By typa of cagh flow

» Conventional cash flow: only one change in the cash flow sign

J
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0.g. -f+4+++ OF +/—, elc \
« Non-conventional cash flows: more than one change in the cash flow sign,
0.g. +Sr44 OF S1f-1444+, BiC.

The economic evaluation of investment proposals
The analysis stipulates a decision rule for;

1) accepting or
It) rejacting

invesiment projects
The time vaiue of money

Recall that the interaction of lenders with borrowers sets an equilibrium rale of
interest. Borrowing is only worthwhile if the return on the loan exceeds the cost of the
borrowed funds. Lending is only worthwhille if the retum is at lesst equal 10 that which
can be obtained from aftermative opportunitios in the same risk class.

The intorest rate received by the lender is made up of:

i} The time value of money: the recsipt of money is preferred sooner rather than
later. Money can be used 1o eam more money. The earlier the money s
received, the greator the potential for increasing wealth. Thus, 1 forego the
use of money, you must get some compeansation.

i) The risk of the capital sum not being repaid. This uncerainty requires a

promium as & hedge against the risk, hence the retum must be commensrele
with the risk being undertaken.

i) inflation: money may lose its purchasing power over time. The lender must be
compensated for the declining spending/purchasing power of money. ¥ the
lender receives no compensation, he/she will be worse off when the iosn s
repaid than at the time of lending the money.

a) Futwre valuss/compound interest

Future value (FV) is the value in dollars at some point in the future of one or more
invesiments.

FV consists of:

i) the original sum of money invested, and
i) the retum in the form of interest.

The general formula for computing Future Value is as follows:

FV..= Vn(’*"f)‘
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( where

V, is the initial sum invested

r is the interest rate

n is the number of periods for which the investment is to receive interest.

Thus we can computa the future value of what V, will accumulate to in n years when it
is compounded annually at the same rate of r by using the above formula.

Now attempt exercise 8.1.

Exercise 6.1 Future valuss/compound Interest

i} What is the future value of $10 invested at 10% at the end of 1 year?
ii} What is the future value of $10 invested at 10% at the end of 5 years?

Wae can derive the Present Value (PV) by using the formuia:

W.oV. (1

By denoting V, by PV we obtain:

FV,=PY{(l+r1r

by dividing both sides of the formula by (1 + ) we derive:

FV,
a+

Rationale for the formula:

As you will see from the following exercise, given the alternative of eaming 10% on
his money, an individual (or firm)} should never offer (invast) more than $10.00 to
obtain $11.00 with certainty at the snd of the year.

Now attempt exercise 6.2

Exercise 6.2 Present vailue

i} What is the present value of $11.00 at the end of one year?
i) What is the PV of $16.10 at the end of 5 years?

b) Net present value (NPV)
The NPV method is used for svaluating the desirability of investments or projects.

.4 G . G )
I+r +(§+r}’ T(I+r)? et (F+r)"

55



Financial Analysis For Agribusiness Merketers
WW&W \

NV = z(fw')'

where:

;= the net cash receipt at the end of year t

L = the initial investment outlay

r = the discount rate/the required rminimum rate of retum on investment
n = the project/investment’s duration in years.

The discount factor r can be calculated using:

m"mfr

BExamples:
(Lm-rfi--uuvi
1
-t 0z
£2.10%) o
mm-ﬁz{}ﬁ—waﬁﬁ

N.B. At this point the tutor should introduce the net presont value tables from
any recognised published source. Do that now.
Decision nie:

if NPV is posilive {+): accept the project I
i NPV is negative(-): reject the project

Now attempt exercise 6.3.

Exsrcise 6.3 Net present value

A firm intends 1o invest $1,000 in a project that generated net receipts of $800, $800
and $600 in the first, second and third years respectively. Should the firm go shead

with the project?
Atternpt the calculation without reference to net present value tabies first.

c) Annulties

N.B. Introduce skxients 1o anncuity tables from any recognized published
SOUCE.

A set of cash flows that are equal in each and every period is callad an anmully.

/
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(" Eampe: | N

Yeoar Cash Flow ($)
4] -B00
1 400
2 400
3 400
PV = $400{0.9091) + $400(0.8264) + $400(0.7513)
= $363.64 + $330.56 + $300.52
NPV = $804.72 - $800.00
= $104.72
Altemnatively,

PV of an annuity = $400 (PVFALI) (3,0,10)
= $400 (0.9091 + 0.8264 + 0.7513)
= $400 x 2.4868

$094.72
NPV = $994.72 - $800.00
$194.72

d) Perpetuities

A perpetuity is an annuity with an infinite life. ?tisanaqwsumofmmy&ebepaidm
each period forever. |

#

wgamag

| where:

Cis the sum to be received per period
ris the discount rate or intorest rate

Example:

You are promisad a perpetuity of $700 per year at a rate of interest of 15% per
annum, What price (PV) should you be willing to pay for this income?

$700
T

= $4,866.67
A perpetuity with growth:
Suppose that the $700 annual income most recently recsived is expacted to grow by

a rate G of 5% per year {compounded) forever. How much would this incoma be
worth when discourted at 15%7

.14




Financial Analysis For Agribusiness Marketers
Computerized Systems & Agribusiness Applicetions

—

Subtract the growth rate from the discount rate and treat the first period’s cash flow as \
a perpetulty.

Q1+ G
W25

_ $7m001+-085)
a5~ 003
. ¥700.05)

010
= $7350.10
= $7.350

6) The internal rale of return (IRR)

Refer shudonts io the tables in any recognized publishaed source.

» The IRR is the discount rate at which the NPV for a project equals 2ev0. This
rate means that the present value of the cash inflows for the project would
equal the present value of s cutflows.

« The IRR is the break-even discount rate,

« The IRR Is fourd by trial and error,

3 G -l -0
?-:;(I”i * " whers r=IRA

IRR of an annuity:

Qe)- 2

where:

Q (n,r) is the discount factor
I, is the initial outlay
C is the uniforrn annual receipt (Cs = Cy =....= ).

Example:

What is the IRR of an equal annual income of $20 per annum which accrues for 7
years and costs $1207

$120
"f"’ ]
From the tables = 4%
Economic rationale for IRR:

# IRR exceeds cost of capital, project is worthwhile, i.e. t is profitable 10 undertake.
Now attempt exercise 6.4 /
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Exearcise 6.4 iInternal rate of return

Find the IRR of this project for a firn with a 20% cost of capital:

YEAR CASH FLOW
$

3 "'1 0:@

1 8,000

2 6,000
a) Try 20%
b} Try 27%
c) Try 26%

Net present vaiue vs internal rate of return
independent vs dependent projects
NPV and IRR methods are ciosely related because:

i} both are lime-adjusted measures of profitability, and
i) their mathematical formulas are almost identical.

So, which method leads to an optimal decision: IRR or NPV?

a) NPV vs IRR: independent projects

Independent project: Selecting one project does not preciude the choosing of the
other. ,

With conventionat cash flows {-}+}+) no confiict in decision arises; in this case both
NPV and IRR lead to the same accept/reject decisions.

Figure 6.1 NPV vs IRR Independent projects
NPV
NPVik) pr-

If cash flows are discounted at k,, NPV is positive and IRR > ki: accept project.
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If cash flows are discounted at ke, NPV is negative and IRR < ks reject the project.
Mathermnatical proof: for a project to be acceptabie, the NPV must be poeliive, L.e.

—
Z(Iﬂ)’ a"gcfuy”"”'

Similarly for the same project io be accepiable;

q -
2w

where R is the IRR.
Since the numerators C, are identical and positive in both instances:

» implicitlyintuitively R must be greater than k (R » k);
« {f NPV =0 then R = k: the company is indifferant 1o such a project;
» Hence, IRA and NPV lead to the same decision in this case.

b) NPV vs IRR: Dependent projects
NPV clashes with IRR where mutually exclusive projects exist.

Example:

wbmmdnmammnummw
block of offices on a prime site. The following information is

inkisi Investmont Outlay Net inflow at the Year End
Project A 9,500 11,500
Project B -15,000 18,000

Assume k = 10%, which project should Agritex undertake?

Py, - 150 59,500
= $054.55
NPV = Ws;gm $15000
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R, o 314500

A ™ 39500

= 1.21-1
therefore IRR, = 21%

$18.000 _ 415,000
IRRQ: §+R3
$18,000 = $15 900(1 + Rg)
$18000
R = $15000
= 1.2+1
therefore IRRy = 20%
Decision:
Assuming that k = 10%, both projects are acceptable because:
NPV, and NPV; are both positive
IRR, >k AND IRRg > k
Which projectis a battaropﬁm" for Agritex?
it we use the NPV method
NPV, (§1 36364):» NPV, ($954.55): Agritex should choose Project B.
if we use the IRR method:
IRA, {21%) > IRRy (20%): Agritex should choose Project A. See figure 6.2,

Figure 6.2 NPV va IRR: Depandent projects

$1 363.64

$054.55

° LY - 20% 21
Diacount rate

Up to a discount rate of k. project B is superior to project A, therefore project B is
preferred to project A.

Beyond the point k.: project A is superior {0 project B, therefore project A is preferred
o project B .

The two methads do not rank the projects the same.
Differences in the scale of investment

NPV and IRR may give conflicting decisions whers projects differ in their scale of
investment. Example:

/4
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Yoars 0 1 2 3
Project A «2.500 1.500 1,500 1,500
Project B -14,000 7,000 7.000 7.000
Assume k= 10%.

NPV, = $1,500 x PVFA at 10% for 3 years
= $1,500 x 2.487 = $3,790.50 - $2,500.00 = = $1.230.50,

NPV = $7,000 x PVFA at 10% for 3 years
= $7,000 X 2.487 = $17,409 - $14,000 = $3,400.00,

e $2500

—-—

IRR, = C1  $1500 « 1.67.
Thersfore IRRA, = 38% (from the tables)

L, 314000

Ry = ¢, $2000 =20
Therefore ARy = 21%

Decigion:

Conflicting, as:

« NPV prefers B 1o A
* IRA prefers A10 B

Project A
Project B

$3,730.50
$17.400.00

<43

See figure 6.3,

Figure 8.3 Scale of investments
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To show why:
i} the NPV prefers B, the larger project, for a discount rate below 20%
ii} the NPV is superior to the IRR

a) Use the incremental cash flow approach, *B minus A" approach
b) Choosing project B is tantamount to choosing a hypothetical project *B

minus A",
g 1 2 3
Project B - 14,000 7,000 7,000 7,000
wa A - 2;@ 1.5m f;m 1 ;m
*B minus A" - 11,500 5,500 5,500 §,500
$11,500

RRg M a- 30 =200 =20%

¢) Choosing B is equivalent to: A+ (B-A) =

d) Choosing the bigger project B means choosing the smaller project A plus
an additional outlay of $11,500 of which $5,500 will be realised each year for
the next 3 years.

8) The IRR-a mae &+ On the incremental cash flow is 20%.

f) Given k of 10%, this is a profitabie opportunity, therefore must be accepted.

g')qsm,mmmmmmmm%)mmmmw,mw
act.

h) At the point of intersection, |
NPV, = NPVg or NPV, - NPVg = 0, i.e. indiffarent to projects A and B.
i) If k = 20% (IRR of *B - A"} the company shouid acoept project A.
+ This justifies the use of NPV criterion.
Advantage of NPV:
¢ It ensures that the firm reaches an optimal scale of investment.

Disadvantage of IRR:

» It expresses the retum in a percentage form rather than in terms of absolute
doliar retums, e.g. the IRR will prefer 500% of §1 to 20% retum on $100.
However, most companies set their goals in absolute terms and not in %
terms, e.g. target sales figure of $2.5 milfion.

The timing of the cash flow

93




The IRR may give confilcting decisions where the timing of cash flows varios between )

The horizon problem
NPV and IRR rankings are

the 2 projects.
Note that initial outiay |, is the same.

0 1 2
Project A - 100 20 125.00
Project 8 - {00 100 NS
A minm 8" 9 - 80 8815
Assume k = 10%

_ NPV RR
Project A 173 20.0%
Project B 187 25.0%

"A minus B° 08 10.9%
IRR pretors B to A even though both projects have identical initial outiays. So, the
decision is to accapt A, that is B + (A - B) = A. See figure 8.4.

Figure 6.4 Timing of the cash flow

contradiciory. Project A eams $120 at the end of the first
year while project B sams $174 at the end of the fourth year.

0

2

4

Project B 100

Project A -100 120

-

-

*

174

\ Assume X = 10%

J/
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NPV izis
Project A 9 20%
Projoct B 19 15%
Decision:
NPV prefers Bio A
IRR prefers A to B.

The profitability index - P{
This is a variant of the NPV method.

Py
Piﬂ—f-w

-4
Decision rule:

Pl > 1; accept the project
Pl < 1; reject the project

K NPV = 0, we have:

NPV =PV-i;=0
PV=1i,

Dividing both sides by |, we get:

EX:!

L

Pl of 1.2 means thet the project’s profitability is 20%. Example:

PV of CF le Pi
Project A 100 50 20
Project B 1,500 1,000 1.5

Decision:

Choose option B because it maximises the firm's profitability by $1,500.
Disadvantage of PI:

Like IRR it is a percentage and therefore ignores the scale of investment.

The peyback period (PP)

The CIMA defines payback as ‘the time it takes the cash inflows from a capital
investment project to equal the cash outflows, usually expressed in years', When

deciding between two or more competing projects, the usual decision is to accept the
one with the shortest payback.
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capital investment project is being considerad, the first question 10 ask is: How long

will it take to pay back its cost? The company might have a target payback, and so &
mﬂd%ﬁam&dp&pﬂaﬁmk%wﬁdmmmgw
number of years.

Example 1:

oot _ $1000,000
G SZR00 ;4 voory
Example 2
Yours 0 1 2 3 4
Project B ~10000 5000 2,500 4,000 1,000

Payback pericxd los between year 2 and yeer 3. Sum of money recoverad by the end
of the second year

= $7,500, i.e. ($5,000 + $2,500)
Sum of money to be recovered by end of 3rd year

= $10,000 - $7,500 = $2.500

Paytac paiod= 2+ S250) o
= 2,625 voars
Disacvantages of the peyback method:

= ft ighoree the timing of cash flows within the payback period, the cash flows alter
the end of payback period and therefore the total project retum.

= It ignores the time value of money. This means that ik does not take into account
the fact that $1 today is worth more than $1 in one year's ime. An irvaeior
who has $1 today can ecither consume it immedistoly or allematively can
invest it at the prevaliing interest rate, say 30%, to get a relum of $1.30 in &
yoor's time.

« It is unabile to distinguish between projacts with the same payback period.

« [t may lead 10 excossive investment in short-term projects.

Adverdages of the payback method:

9%
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= Payback can be important: long payback means capital ied up and high \
investment risk. The method also has the advantage that it involves a quick,
simple calculation and an easily understood concept.

The accounting rate of return - (ARR)

The ARR method (aiso called the retum on capital employed (ROCE) or the relum on
investment {ROI) method) of appralsing a capital project is to estimate the accounting
rate of retumn that the project should vield. If it exceeds a target rate of retum, the
project wifl be undertaken.

Net Antusi Profit {M+(c-z>)}

ARR o total invesimeant - i

Note that net annual profit excludes depreciation.

Example:

A project has an initial outlay of $1 million and generates net receipts of $250,000 for
10 years.

Assuming straightdm-depmeiaﬁon of $100,000 per year:

$250,000 - $100,000
1,008 000 =15%

the RR on it inwvesiment =

ARR on okl investment = 1V Annusl Proft N[Rt+(C~D}]

Tavestment Outiay/ 2 1./2

. $250,000 - $160,000 _ $150,000
$1,600,000+ 2 $500,000 _ 30%

Disadvantages:

o it does not take account of the timing of the profits from an investment.

« it implicitly assumes stable cash receipts over time.

« |t is based on accounting profits and not cash flows. Accounting profits are
subject to a number of different accounting treatments,

» {t is a relative measure rather than an absolute measure and hence takes no
account of the size of the investment.

« It takes no account of the length of the project.

s it ighores the time value of money.

The payback and ARR methods in practice

Despite the limitations of the payback methed, it is the method most widely used in
practice. There are a number of reasons for this:

o it is a particularly useful approach for ranking projects whete a firm faces
liquidity constraints and requires fast repayment of investments. /
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markets that are subject to fast design and product changes or where fulure
cash flows are particularly difficult to pradict.

+ The method is often used in conjunction with NPV or IRR method and acts
as a first screening device to identiy projects which are worthy of further
ivestiat

« it is sasidy undersiood by all levels of management.

s It provides an imporiant summary method: how quickly will the inllial
investment be recouped?

Now attermnpt exercise 6.5.
Exercise 8.5 Paybeck and ARR
Delta Corporaiion is considering two capital expendittre proposals. Both proposals

are for similar products and both are expected 10 operate for four years. Only one
proposal can be accepted.

The following information is avallable:
ProfVioss)
Proposal A Propossl B
A $ $

inktial iInvestment 46,000 48,000
Yoar 1 6,500 4,500
Year 2 3,500 2,500
Year 3 13,500 4,500
Your 4 > Loss 1,500 Prol 14,500
Estimated scrap value at the end of Yoar 4 4,000 4,000
thmmwmmm
a) Calculate the following for both proposals:

f) the payback period 10 one decimal place
i) the average rate of retum on initinl nvestment, 10 one decimal place.

Allowing for infiation

So tar, the effect of inflation has not been considered on the appraisal of caplial
investment proposals. inflation is particularly important in developing countries as the
rate of inflation tends to be rather high. As inflation rale incroases, 0 wik the
minimum retum required by an investor. For example, one might be happy with a
return of 10% with zero inflation, but if inflation was 20%, one wouid expect & much

greater retum.
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/. Exampie: | \

Kaymer Farm is considering investing in a project with the following cash flows:

ACTUAL CASH FLOWS
Z%
TIME
0 (100,000)
1 80,000
2 80,000
3 70,000

Keymer Farm requires a minimum retumn of 40% under the present conditions.
inflation is currently running at 30% a year, and this is expected to continue
indefinitely. Should Keymer Farm go ahead with the project?

Let us take a look al Keymer Farm's required rate of retum. If it invested $10,000 for
one year on 1 January, then on 31 December it would require a minimum return of
$4,000. With the initial investment of $10,000, the total value of the investment by 31
December must increase to $14,000. During the year, the purchasing value of the
doflar would fall due to inflation. We can restate the amount received on 31 Decernber
in terms of the purchasing power of the dollar at 1 January as follows:

Amount received on 31 December in terms of the vaiue of the dollar at 1 January:

_ $14,000
(130" - 510769

In terms of the value of the doliar at 1 January, Keymer Farm wouid make a profit of
$769 which represents a rate of retum of 7.69% in “today’s money" terms. This is
known as the real rate of retum. The required rate of 40% Is a money rate of retum
(sometimes known as a nominal rate of retum). The money rate measures the return
in terms of the dollar, which is falling in value. The real rate measures the retum in

constant price levet terms.
The two rates of retum and the inflation rate are linked by the equation:;

{1 + money rate) = (1 + real rate) x (1 + infiation rate)
where all the rates are ex

in the example,
(1+040)=(1+0.0769)x (1 +0.3)= 140

So, which rate is used in discounting? As a rule of thumb:
a) if the cash flows are expressed in terms of actual dollars that will be
be

received or paid in the future, the money rate for discounting should
used.

N /
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b) i the cash flows are expressed in terms of the value of the doliar at ime 0 \
(i.e. in constant price level terms), the real rate of discounting should be
used.

In Keymer Farm's case, the cash flows are expressed in terms of the actual dollars
that will be received or paid at the relevant dates. Therefore, we should discount themn
using the money rate of retum.

TWE CASH RLOW DISCOUNT FACTOR PV
$ 40% $
0 (150,000) 1.000 {100,000)
1 90,000 0.714 64,2680
2 80,000 0.510 40,800
3 ; 70,000 0.364 25,480
30,540

The project has a positive net present value of $30,540, so Keymer Farm should go
ahead with the project.

The future cash flows can be re-expressed in terms of the value of the doller at time 0
as follows, given infiation at 30% a year:

TIME ACTUAL CASH FLOW CASH FLOW AT TIME 0 PRICE LEVEL
$ $

0 {100,000} {100,000)

1 90,000 .25
me! -

2 80,000 20,000 x—' = 47337

(130°
3 70,000 1 31,082

70,000 xm--

The cash flows expressed in terms of the value of the dollar at time 0 can now be
discourted using the real value of 7.69%.

TIME CASH FLLOW DISCOUNT FACTOR [ d
$ 7.00% $
0 (100,000) 1.000 (100,000)
1 69,231 ! 64,246
oresy’
2 47,337 1 40,804
(ovssy”
3 31,862 t 25,400
Py j
(1.0763)
30,540
The NPV is the same as before.
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Expectations of infiation and the effects of inflation

When a manager evaluates a project, or when a shareholder evaiuates his/her
investments, he/she can only guess what the rate of inflation will be. These guesses
will probably be wrong, at least to some extent, as it is extremely difficult to forecast
the rate of inflation accurately. The only way in which uncertainty about inflation can
be allowed for in project evaluation is by risk and uncertainty analysis.

Inflation may be general, that is, affecting prices of all kinds, or gpecific to particular
prices. Generalised inflation has the following effects.

a) Infiation will mean higher costs and higher selling prices. It is difficult to
predict the effect of higher selling pricas on demand. A company that
raises #s prices by 30%, because the general rate of inflation is 30%,
might suffer a serious fall in demand.

b} Inflation, as & affects financing needs, is also going to affect gearing, and so
the cost of capital.

¢} Since fixed assels and stocks will increase in money valus, the same
quantities of assets must be financed by increasing amounts of capital. if
the future rate of inflation can ba predicted with some degree of accuracy,
management can work out how much extra finance the company will need
and take steps to obfain it, e.g. by increasing retention of samings, or

borrowing.

However, if the huture rate of inflation cannot be predicted with a certain amount of
accuracy, then management should estimate what it will be and make plans to obtain
.the extra finance accordingly. Provisions should also be made to have access 0
‘contingency funds’ should the rate of inflation exceed expectations, e.g. & higher
bank overdraft facility might be arranged should the need arise.

Many different proposals have been made for accounting for inflation. Two systems
known as “"Current purchasing power® (CPP) and “Current cost accounting® (CCA)
have been suggested.

CPP is a system of accounting which makes adjustments to income and capital
valuas to allow for the general rate of price inflation.

CCA ie a system which takes account of specific prios infistion (i.e. changes in the
prices of specific assets or groups of assets), but not of general price inflation. it
invoives adjusting accounts to refiect the current valuss of assets ownad and used,

At present, there is very iitle measure of agreement as to the best approach to the
probiem of "accounting for inflation’. Both these approaches are still being debated by

the accountancy bodies.

Now attempt exercise 6.8.

Exercise 6.6 Inflation

TA Holdings is considering whether to invest in a new product with a product life of
four years. The cost of the fixed asset investment would be $3,000,000 in total, with

$1,500,000 payable at once and the rest after one year. A further investment of
$600,000 in working capital would be required.

J
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The management of TA Holdings expect all their investments 10 justily thamesives \
wmmmmmmwmawnmmu
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apreciation of $400,000. These costs, excluding depreciation, are expecied 1o rise
wz&mmmdmmwmmmwmm
are $24 and $12 respectively in the first year and expected yearly increancs bocaune
dmm%mtaxm Annual sales are estimated o be 175,000
units,

TA Holdings money coet of capital is 28%.

Is the product worth investing in7

Key terms
Acoounting rate of retum infiadion
Anrsitios intorost rale
Capital budgeting intemal rade of relum
Cash flow investment decision
Classification of investrment Net presant vakug
projects Payback period
Compound intorest Perpetulty
Current cost accounting (CCA) Present value
Current purchasing power (CPP) Rates of retum
Dependent projects The time value of money
independent projects
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Chapter 7 - Sources of finance

Chapter objectives

This chapter is intended to provide:

s An introduction to the different sources of finance available to
managemsent, both internal and extemal

* An overview of the advantages and disadvantages of the different
sources of funds

* An understanding of the factors goveming the choice between
different sources of funds,

Sourcing money may be done for a variety of reasons. Traditional areas of need may
be for capital asset acquirement - new machinery or the construction of a new
building or depot. The development of new products can be enormously costly and
here again capital may be required. Normally, such developments are financed
intemally, whereas capital for the acquisition of machinery may come from external
sources. In this day and age of tight liquidity, many organizations have to look for
short-term capital in the way of overdraft or loans in order to provide & cash flow
cushion. Interest rates can vary from organization to organization and also according

10 purpose.
Structure of the chapter

This final chapter starts by looking at the various forms of "shares" asameamﬁo
raise new capital and retained eamings as another source. However, whilst these
may be “traditional” ways of raiging funds, they are by no means the only ones. There
are many more sources available to companies who do not wish to become “public”
by means of share issues. These alternatives include bank borrowing, government
assistance, venture capital and franchising. All have their own advantages and
disadvantages and degrees of rick attached.

Sources of funds
A company might raise new funds from the following sources:
¢ The capital markets:

i) now share issues, for example, by oompaniés acquiring a stock
market listing for the first time

if} rights issues

» Loan stock

« Retained earnings

» Bank borrowing

« Government sources

« Business expansion scheme funds
» Venture capital

» Franchising.
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Ordinary (equity) shares

Ordinary shares are issued 10 the owners of a company. They have a nominal or
Yace’ value, typically of $1 or 50 cents. The market value of a quoled compearny’s
shares bears no relationship to their nominal value, mmmmm
are issued for cash, the issue price must be equal to or be more than the nominal
value of the shares.

a) by paying for a new issue of shares
b) through retained profits.

Simply retaining profits, instead of paying them out in the form of dividends, offers an
important, sirnple low-cost source of finance, aithough this method may not provide
enough funds, for example, if the firm is seeking to grow.

A new issue of shares might be made in a variety of different circumnstances:

a) The company might want to raise move cash. If i issues ordinary shares for
cash, should the shares be issued pro rata 10 existing shareholders, #0
that control or ownership of the company is not affected? i, for example, & -
company with 200,000 ordinary shares in issue decides 10 issue 50,000
new shares to raise cash, should it offer the new shares 10 exisling
shareholders, or should it sell them 0 new shareholders instead?

i) ¥ a company selis the new shares 0 existing sharsholders in

proportion to their existing shareholding in the company, we have a
nghts issue. In the example above, the 50,000 shares would be

issued as a one-in-four rights issue, by offering sharehoiders one
new share for every four shares they currently hold.

i) if the number of new shares being issued is small compared 10 the
number of shares already in issue, it might be decided instead 10 sell
them %0 new shareholders, since ownership of the compeany would
only be minimally affected.

b) The company might want 10 issue shares parlly 10 raise cash, but more
importantly o float’ its shares on a stick exchange.

c¢) The company might issue new shares to the shareholders of another company,
in order to take it over.

New shares issuss
A company seeking 10 obtain additional equity funds may be:
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/ a) an unquoted company wishing to obtain a Stock Exchange quotation \

b) an unquoted company wishing to issue new shares, but without obtaining a
Stock Exchange quotation

c) a company which is already listed on the Stock Exchange wishing to issue
additional new shares.

The methods by which an unguoted company can obtain a quotation on the stock
market are:

a) an offer for sale

b) a prospectus issue
c) a placing

d) an introduction.

Offers for sale:
An offer for sale is a means of selling the shares of a company to the public.

a) An unquoted company may issue sharas, and then sell them on the Stock
Exchange, o raise cash for the company. All the shares in the company,
not just the new ones, would then become marketable. '

b) Shareholders in an unquoted company may seli some of their existing
shares 1o the general public. When this occurs, the company is not raising
anymm but just providing a wider market for its existing shares (all
of which would becomme marketable), and giving existing shareholders the
chance to cash in some or all of their investment in their company.

When companies ‘go public’ for the first time, a Targe’ issue will probably take the
form of an offer for sale. A smaller issue is more likely 10 be a placing, since the
amount to be raised can be cbtained more cheaply If the issuing house or other
sponsoring firm approaches selected institutional investors privately.

Rights issues

A rights issue provides a way of raising new share capital by meansg of an offer o
existing shareholders, inviting them to subscribe cash for new shares in proportion to
their existing holdings.

For example, a rights issua on & one-for-four basis at 280¢ per share would mean
that a company is inviting its existing shareholders to subscribe for one new share for
every four shares they hold, at a price of 280¢ per new share,

A company making a rights issue must set a price which I8 low enough to secure the
acceptance of shareholders, who are being asked to provide extra funds, but not too
low, s0 as to avoid excessive dilution of the eamings per share.

Preferance shares

Preforence shares have & fixed percentage dividend before any dividend is paid to '
\ the ordinary shareholders. As with ordinary shares a preference dividend can only be /
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mﬁmmmmm,mmmm\
preference shares the right to an unpeid dividend is carried forward %0 lslor yoars.
The amrears of dividend on cumulative preference shares must be paid belore any
dividend is paid 10 the ordinary shareholders.

From the company’s point of view, preferonce shares are advarniageous in thet:

« Dividends do not have 1 be paii in a year in which profits ame poor, while
this is not the case with interest payments on long term debt (loans or
debentures).

+ Since they do not cany voting rights, preferaence sheres avoid diluting the
control of existing sharehoiders while an issue of equity shares woulkd not.

+ Unless they are redeomable, issuing preference shares will lower the

e The issue of preference shares does not restrict the borrowing
power, at least in the sense that preference share capital is not secured
against assets in the business,

= The non-payment of dividend does not give the preference sharehokiors the
nght to appoint & receiver, a right which is normally given 10 debenture

However, dividend payments on preference shares are not tax deductible n the way
that interest payments on debt are. Furthermore, for preference shares %0 be
aftractive to investors, the level of payment needs to be higher then for inlorest on
debt 1o compensate for the additional risks.

For the investor, preferance shares are less attractive than loan stock because:

« thoy cannot be secured on the company’s assets

o the dividond yield traditionally offered on preference dividends has besn
much 100 low 10 provide an atiractive invesiment compared with the
interest yielkds on loan stock in view of the addiional risk involved.

Loan stock

Loan stock is long-term debt capital raised by a company for which interest is paid,
usually half yesrly and at a fixed rate. Holders of ioan stock are therefors long-lerm
creditors of the company.

Loan stock has a nominal vaive, which is the debt owed by the company, and inlerest
is pakl at a stated "coupon yield" on this amount. For example, ¥ a company issues
10% lvan stocky the coupon yield will be 10% of the nominal value of the stock, s0
that $100 of stock will receive $10 interest each year. The rate quoted is the gross
rate, before tax.

Debanturee are a form of loan stock, legally defined as the written acknowledgement
dammbyaw mmmmuwd

Debsnitures with a floating rate of interest
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These are debentures for which the coupon rate of interest can be changed by the
issuer, in accordance with changes in market rates of interest. They may be attractive
to both lenders and borrowers when interest rates are volatile.

Security

Loan stock and debenturas will often be securad. Security may take the form of either
a fixex charge or a fioating charge.

a) Fixed charge; Security would be related to a specific asset or group of
assets, typically land and builkdings. The company would be unabie to
dispose of the asset without providing a substitute asset for security, or
without the lender’s consent.

b) Floating charge; With a floating charge on certain assets of the company (for
example, stocks and debtors), the lender's security in the event of a
default payment is whatever assets of the appropriate class the company
then owns (provided that another lender doses not have a prior charge on
the assets). The company would be able, however, to dispose of its assets
as it chose until a default took place. In the event of a default, the lsnder
would probably appoint a receiver to nun the company rather than lay claim
to a particular asset.

The redemption of loen stock

Loan stock and debentures are usually redeemable. They are issued for a term of ten
years or more, and porhaps 25 to 30 years. At the end of this period, thay will
*mature” and become redeemable (at par or possibly at a value above par).

Most redeomable stocks have an earliest and latest redemption date. For example,
18% Debenture Stock 2007/00 is redeemable, at any time between the earliest
spacified date (in 2007) and the latest date (in 2009). The issuing company can
choose the date. The declsion by a company when to redeemn a debt will depend on;

a} how much cash is avallable to the company to repay the debt

b} the nominal rate of interest on the debt. If the debentures pay 18%
nominal interest and the current rate of interest is iower, say 10%, the
company may by to raise a hew loan at 10% to raedeem the debt which
costs 18%. On the other hand, if current interest rates are 20%, the
company is unlikely to redeem the debt until the latest date possible,
because the debentures would be & cheap source of funds.

There is no guarantee that a company will be able to raise a new loan to pay off a
maturing debt, and one ftem to look for in a company's balance sheet is the
redemption date of current loans, to establish how much new finance Is likely to be
needed by the company, and when.

Morigages are a specific type of secured ksan. Companies place the title deeds of
freehold or iong leasehold property as security with an insurance company or
mortgage broker and recsive cash on loan, usually repayable over a specified period.
Most organisations owning property which is unencumbered by any charge should be
able to obtain a mortgage up to two thirds of the vaiue of the property.

~
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As far as companies are concemad, debt capital is a potentially attraciive souwrce of \
finance because interest charges reduce the profits chargeabile 10 corporation tax.

Retained earnings

For any company, the amount of samings retained within the business has a direct
impact on the amount of dividends. Profit re-invested as retained eamings is proft
that could have been peii as a dividend. The major reesons for using rotained
eamings 1o finance new investrnents, rather than to pay higher dividends and then
raise new oquity for the new investments, are as follows:

a) The management of many companies believes that retained eamings ae
funds which do not cost anything, although this is not true. However, it ls
true that the use of retained eamings as a source of funds does not lead 0

a payment of cash.

b} The dividend policy of the company is in practice determined by the
directors. From their standpoint, retained eamings are an attractive sourcs -
of finance because investment projects can be undertaken without
invoiving either the sharehoiders or any outsiders.

¢} The use of rolained samings as opposad 10 new shares or debeniires
avoids issue costs.

d) The use of retained eamings avoids the possibilty of a change in control
resulting from an lasue of new shares.

Ancther factor that may be of importance is the financial and taxalion posiion of the <

company’s shareholders. If, for example, because of taxation considerations, they |

would rather make a capital profit (which will only be taxed when shares are soki)

than receive current income, then finance twough retsined eamings would be
preferred 10 other methods.

A company must restict Rs self-financing through retained profiis beceuse
sharcholders should be paid a reasonabie dividend, i ino with realistic expectalions,
oven if the direciors would rather keap the funds for re-investing. At the same tinw, &
company that is looking for extra funds will not be expectad by investors (such s
banks) fo pay generous dividends, nor over-generous salarios 1o owner-direciors.

Bank lending

Borrowings from banks are an important source of finance 0 companies. Bank
lending is still mainly short term, although medium-term lending s quile common
these days.

Short term lending may be in the form of:

a) an overdraft, which a company shoulkd keep within a mikt set by the bank.
interest is charged (ut a variable rate) on the amount by which the company is
overcdrawn from day 1o day;

b) a short-term loan, for up to three years.
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Medium-term ioans are lcans for a period of from three to ten years. The rate of \
imterest charged on medium-term bank lending to large companies will be a set
margin, with the size of the margin depending on the credit standing and riskiness of

the borrower. A loan may have a fixed rate of interest or a variable interest rate, so

that the rate of interest charged will be adjusted every thres, six, nine or twelve
months in line with recent movements in the Basgs Lending Rate.

Lending to smalier companies will be at a margin above the bank’s base rate and at
either a variable or fixed rate of interest. Lending on overdraft is always at a variable
rate. A loan at a variable rate of interest is sometimes referred to as a floating rate
foan. Longer-term bank loans will sometimes be available, usually for the purchase of
property, where the loan takes the form of a mortgage. When a banker is asked by a
business customer for a loan or overdraft facility, he will consider several factors,
known commonly by the mnemonic PARTS.

- Purpose

- Amount

- Repayment
- Term

- Security

purpose of the lsan A loan request will be refused if the purpose of the loan is not

1o the bank,

amount of the joan. The customer must state exactly how much he wanis to
. The banker must verify, asmrashobmmwso,ﬁmmmmum

make the proposed investment has been astimated comrectly.

Leasing

A lease is an agreement between two parties, the "lessor® and the "lessee”. The
lessor owns a capRal asset, but allows the lessee o use it. The lessee makes
payments under the terms of the leass to the lessor, for a specified period of time.

Leasing is, therefore, & form of rental. Leased assets have usually been plant and
machinery, cars and commercial vehicles, but might aiso be computers and office
equipment. There are two basic forms of lease: "operating leases" and “finance
leases".

Operating leases

Opemw;gbammmwmmmmmmmmmmr
a)mmmﬁ'wequ%pmemto&elm
b) the lessor is responsible for servicing and maintaining the leased
equipment
¢} the period of the lease is fairly short, less than the economic life of the
asset, so that at the end of the lease agreement, the lessor can either
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i) lease the equipment to someone eise, and obtain a good rent for &, \
or
K) sell the equipment secondhand.

Finance lsases

Finance leases are loase agreements between the user of the leased asest (the
mwaMdmmmwandhmw

Suppose that a company decides to obtain a company car and finance the acquisiiion
by means of a finance lease. A car dealer will supply the car. A finance house will
agree to act as lessor in a finance leasing arangement, and so will purchase the car
from the dealer and lease i 10 the company. The company will take possession of the
car from the car dealer, and make reguiar payments (monthly, quarierly, six monihly
or annually) to the finance house under the terms of the lease.

Other important characteristics of a finance lease:

8) The lessee is responsible for the upkeep, servicing and maintenance of the
asset. The lessor is not involved in this at all.

b) The lease has a primary period, which covers all or most of the sconomic
Mo of the asset. At the end of the lease, the lessor would not be able o
loase the asset 10 someons elee, as the asset would be wom out. The
lessor must, therofore, ensure that the lease payments during the primary
period pay for the full cost of the aseet as well as providing the lessor with
a suitable rekam on his investment.

c) It is usual at the end of the primary leese pariod 10 allow the leesse 10
continue to iease the asset for an indelinite secondary period, in retum for
a very low nominal rent. Akematively, the lesesee migit be allowed 10 sell
the asset on the lessor’s bohalf (since the lassor is the owner) and 10 keep
nﬁmmmmwammmtuy
© A

Why might leasing be populer

The atiractions of leases 10 the supplier of the equipment, the leesee and the lsssor
are as follows:

» The supplier of the equipment is pald In full at the beginning. The equipment is
sold 1o the lessor, and apart from obligations under greraniees or wamaniies,
the supplier has no further financial conosm about the aseet.

« The lessor inveets finance by purchasing assets from suppliers and makes a
retum out of the loase paymerts from the lessee. Provided that a leesor can
find lessees willing 10 pay the amounts he wants 10 make his return, the lessor
can meke good profits. He will aleo get capital alowances on his purchase of
the equipment.

» Leasing might be atiractive 1o the lessse:
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i) if the lessee does not have enough cash to pay for the asset, and \
woulld have difficulty obtaining a bank loan to buy it, and so has lo
rent it in one way or another if he is to have the use of t at ali; or

if) if finance leasing is cheaper than a bank loan. The cost of payments
under a joan might exceed the cost of a lease.

Operating leases have further advantages:

+ The leased equipment doas not need o be shown in the lessee’s published
balance sheet, and 8o the lesses’s balance sheet shows no increase In its

gearing ratio.

+ The equipment Is leased for a shorier period than its expected useful life. In the
case of high-technology equipment, if the equipment becomes out-of-clate
before the end of its expected life, the lessee does not have to keep on using
it, and it is the lessor who must bear the risk of having to sell obsolete
aquipment secondhand.

The lessee wili be able to deduct the lease payments in computing his taxable profits.

Hire purchase

Hire purchase is a form of instalment credit. Hire purchase is similar to leasing, with
the axception that ownership of the goods passes to the hire purchase customer on
paymentofﬁ"&efirmiaaditmstam whereas a lesseo never becomes the owner of

ﬂwgoods.
Hire purchase agreaments usually involve a finance house.

i) The supplier sells the goods to the finance houss.

i} The supplier delivers the goods 1o the customer who will eventually
purchase them. _

ili) The hire purchase arrangement exists between the finance house and the
customer.

The finance house will always insist that the hirer should pay a deposit towards the

purchase price. The size of the deposit will depend on the finance company’s policy
and its assessment of the hirer. This is in contrast to a finance lease, where the

lessee might not be required to make any large initial payment.

An industrial or commercial business can use hire purchase as a source of finance.
With industrial hire purchase, a business customer obtains hire purchase finance from
a finance house in order 10 purchase the fixed asset. Goods bought by businesses on
hire purchase include company vehicles, plant and machinery, office equipment and
farming machinery.

Government assistance
The government provides finance to companies in cash grants and other forms of

direct assistance, as part of its policy of heiping to develop the national economy,
aspecially in high technology industries and in areas of high unemployment. For /
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example, the Indigenous Business Deveiopment Corporation of Zimbabwe (1B0C) \

was sat up by the govermnment 1o assist small indigenous businesses in that country.

Venture capital

Venture capital is money put into an erterprise which may all be lost if the enterprise
fails. A businessman siarting up a new business will invest venture capital of his own,
but he will probably need extra funding from a source other than his own pocket.
However, the torm ‘venture capital’ is more specifically associeted with putting money,
usually ins retum for an equity stake, into a new businees, a management buy-out or a
major expansion scheme.

The institution that puts in the money recognises the gambie inhorant in the funding.
There is a serious risk of losing the entire Investment, and &k might take a jong iime
before any profits and retums materialise. But there is aiso the proapect of very high
profits and a substantial retum on the investment. A venture capitalist will require a
high expected rate of retum on investments, 10 compensate for the high risk.

A veriure capital organisation will not want 0 retain its investment in a business
indefinitely, and when it considers pulting money info a business venture, & will also
consider its "exit®, that is, how i will be able t© pull out of the businees sventually
(mmmhmmmmmumwdm@u

When a company’s diractors look for haip from a venture capital institution, they must
recognise that:

» the instituion will want an equity stake in the company

« it will need convincing that the company can be succesehul

+ it may want t0 have a representative appointed o the company’s board, 1o
look aftor s interests.

The direciors of the company must then contact venture capital organisations, 10 ry
and find one or more which would be wiling to offer finance. A venture caplal
organisation will only give funds fo a company that k believes can succeed, and
before it will make any definite offer, it wil want from the company management:

a) a business plan

b) details of how much finance is needed and how i will be vsed

c) the moet recent trading figures of the company, a balance shost, a cash

flow forecast and a profit forecast

d) details of the menagement team, with evidence of a wide range of
skills

management

@) detalis of major shareholiders

f) details of the company’s cumment banking smangements and any Other
sources of finance

g) any sales ersture or publicity matarial thet the company has issued.

A high percentage of requests for venture capitel are rejected on an initlel scresning,
and only a smafl percentage of all requests survive both this screening and further
investigation and result in actual investments.
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Franchising

Franchising is a method of expanding business on less capital than would otherwise
be needed. For suitable businesses, it is an altemative to raising extra capital for
growth. Franchisors include Budget Rent-a-Car, Wimpy, Nando's Chicken and

~_ Chicken Inn.
Undérefranohisinga«afmm a franchises pays a franchisor for the right to

operate a local business, under the franchisor’s trade nams. The franchisor must bear
cartain costs (possibly for architect’s work, establishment costs, iegal costs, marketing
costs and the cost of other support services) and will charge the franchisee an initial
franchise fee to cover set-up costs, relying on the subsequent regular payments by
the franchises for an operating profit. These regular payments wili usually be &
percentage of the franchisee’s tumaver.

Although the franchisor will probably pay a large part of the initial investment cost of a
franchiseg’s outiet, the franchisee will be expected tc contribute a share of the
investment himself. The franchisor may well help the franchisee to obtain loan capital
to provide his-share of the investment cost.

The advantages of franchises to the franchisor are as follows:
-mmmymmmmmumm

substantialty.

» The image of the business is improved because the franchisees will be
motivated to achiave good results and will have the authority to take
whatever action they think fit to improve the results,

The advantage of a franchise to a franchisee is that he obfains ownership of a
business for an agreed number of years (including stock and premises, although
premises might be leased from the franchisor) together with the backing of a large
organigsation’s marketing effort and experience. The franchisee is abie to avoid some
of the mistakes of many small businesses, because the franchisor has already
learned from its own past mistakes and developed a scheme that works. .

Now attempt exercise 7.1,
Exercise 7.1 Sources of finance

Ouddoor Living Lid., an owner-managed company, has developed a new type of
heating using solar power, and has financed the development stages from its own
resources. Market research indicates the possibility of a large volume of demand and
a significant amount of additional capital will be needed to finance production.

Advise Outdoor Living Lid. on:
a)mmmmmmmmg&mmmmmw
b} the various types of capital likely to be available and the sources from which
they might be obtained
c)mmms)mﬁmlmwwmmmmm&m
Living Ltd. and the provider of funds.
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